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01. aly

u s
aap get cool
Fotoilx become short
L lulajw s mist

Slafw ts frost
sm ma

alpift walajwts-R t ilx if s las - clafkl get cool; become
LjristastRe | lglagv dg £ ubt . & ‘clafki c dédav da [ short; mist; frost
o bjldagdatt s a. afJay t L |pist.

ssgvdzh skragl

1. ki ift wsla[x afay 2
2.sti il f t hkw dfay B

3. ki iftijriss rs K ?b k"
4, xkin  ifo  bj t afay ?b
5.sti af kist £ afy °?

aclts Frgl

1. haa ar s taadpift wolajwsr tafady 72 sfxkinx? s¥fwj hmw tt kts >
2. asilift ,haki t iyat mwts t & lOdawhsr+ kil b r? ma xit

3. asilift ,haki t iyat mwts fitlc Slafwts > xitl

4. anfqgsit,haki t iyak mwts t H lifhrr pohok wtgking? ma  xit.

giils t il gag s
A. Point of View Excercise aksc 1: change the phrase for each new subject, maintaining the same
tense Follow the model. Translate the new phrase to English.

aapift wBlajwt
EX: Mari: Mari _a ap.

1. ica
nuyapixc :

2. anw i
nuyapixc :

3. anwi naft ch:
nuyapixc :
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4. Suli naft r §its:
nuyapixc :kn

B. past present 36 Verb Box aksc t1: Complete the box with correct transitive verb/object forms.
k xit- help someone
i ci anweé al gla [mn IR mni R p mni | &x
i CB XXX XXX
anwe XXX XXX
al gl a
mni | m XXX XXX
mni |R p XXX XXX
al gl a
C.slrgl

aksc dg: answer the questions with complete sentences according to the prompts. Translate the

guestion and your answer to English.

1. switi { k xit s? (mni

¥ p)

2. switi [ kwh ts? (sn¥rpr h k wis(

2 - g s &kitmh ? (ki )

4. sfwj hmw t Ll lks st whijt? (ma [maft)

5. hacmist iwtsfwj h mw xit £7? (lut)

6. hak wh tsr x? (k iwa)
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D. future 36 Verb Box aksc &i: Complete the box with correct transitive verb/object forms.

k xit- help someone

i ci anweé algla [mn IR mni R p mni
i CB XXX XXX
anwe XXX XXX
al gl a
mni | m XXX XXX
mni |R p XXX XXX
al gl a
E slragl

aksc dg: answer the questions with complete sentences according to the prompts. Translate the
guestion and your answer to English.

1. switi [ ksk xit s? (mni & p)

2. switi [ kskwh ts? (snfpr h k wts(

2 - g tafst b kj sxith j2r(ki )

4. sfwj hmw t laksk ti stafo t £ wjhrt{? (p rspsayal)

5. hacmist iwtsfwj h mw it t7 (fuf)

6. haksk wh tsr x? (k iwa)

cdzs st N qa9 s

‘ 1. a 3p- getcool
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example sentences:

1. aflpift wslawt- '"Sgd k> mc bnnkr nee-(

2. inwifskilaf ti if Jamé mip Ja [Bp. (I'l turn the fa on so you will cool off.)

2 - g [ap.j @&re you getting cooled off?)

2. R t ilx- become short

example sentences:

1. Rt ilxifs lat. (The days getshorter.)

1- 1R tyikhgi . (Therope is getting very short.)

3. miy ab RB _ . (It'stoo short.)

3. I kzlayv eamist

example sentences:

0- claK ¢LtijrismstRel lglavdet ubt . (Sometimes the mornings are misty or foggy.)

1- abtlgk_\svidbhk) sptslak = [ wwehen it's'misty the grass is wet.)

2 - ktibk [ wims lgik_ 1 (Ddn't cutgrass when the grass is dewy.)

4. ddav ddrost on the ground

example sentences:

1. laf clafki c¢ déayv dz(Sometimes the ground is frosty.)

2. ways [ W | Wg[ 1 V(tdz getting cold so it's frosty out.)

3. d§ _tvidsus &t§ L p -When' the frost comes, the plants freeze.)
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02.i1 s pJawéxRx nall  gpilx
u s
S spilx Nespelem people
Ka ta place on Columbia
wi m digging area
sta/i prong horn
ky yla ik double-curved bow
pfj Sofits/ prj soj B° pour solids
] ExXmi sweetener
st us fish trap
tohsj ts flow into water
Ida to spear /to sting (as a bee)
al gather to celebrate
cputafst/ putaf respect
t¥ tayalq hut
] Hst shade shelter
ckstas t five days
itn dry fish/berries
Jtxhbo Republic, WA
aaf cedar roots
slahl aptnx Sahaptin people
c stbviétiv sLbv hwl live with someone / be housemates
s even
sm ma

i s plawixfxnafL s spilx ] sk hylaci sifs tss | tsh

t sjrjstsj txn  itlif t tk wist SKB ta. ulafjw ts{ h
s plawix¢rxnafk spilxkift s acksxk ifstsfhtow
t weBlajwtrix, na Lt fitlg] Gdsglr t tfitigvssi s. if

t wslajlwtsfarti tk sifs tss | sh i kafepi h kf
mohkw witm dinkh wiapna[ ylat swit
i if cw wi t ftsusa nafk s i

sapif wifiti[ stqgé s plawixrxt
ixif cpi st¥ x. i { s afcin naft [ stafi

S plawixfx naft

wBlawts-[ r ph k
ixif if isafs sl Hwv

cpi stsif s plawixfrxnaft gpilx. spi i ky y[a &k naft

Nespelem people
place on Columbia

digging area

prong horn

double-curved
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i afctst sts. if splawixfxnaft mohkw by £p~
s tssj shsj ts drdamaf hveafsaftis | ts-
hit ishif syilx,if s plawixfxnafL spilxni a p
ctrw ts but, gipc , calap 5, afay ,ixif | tstc sfistk .
gipc t tw wi tsi naft tstsg[. if ilif wa [h £xif
swir t[f tsth tisr x | tstc sfistk - clafki
Bacg xi[ tsusg ixif tisr x. U if sqipc Julufs t
miktuft . tKisrxifslaq, pR gR dés agna[t L ms
if cicrttx x utsic stisilif t £ ag. i J s plawixFfx
naft mohkw b dithfvdyaf s & Ists. cma wifsts xi [
sya] witifsfht si , ststr.c st st¥xi IRxmi s
if s plawixrxnafb gpilx ksyaft kaJf cj L p P wt
iXif] ] Lp pwisbalay . tststsrx if kst ustssp qi sif

c c ixaJ] satisjiEfctngrigktss] shsj ts5- n

clda Rxt ttyix s tssj tshgkj kif] & iaptifsi £] t&§f
s plawix¥x nafk m o h k wwusks j{ tst tyix na [t isyf- m(h
wtslnaf b j mustsna Lt Kk tflisif t,ka'ya ac [a ci stsif
s tssj wshsjclaki bj mustsif ] st v pinafs  tus.
ht sdtif syilx,if s plawixfxnaft gpixc a

cpetaystsif t s x havwe lap. iIstg xitif t s sapifs. if t tyix
k1 hwigft [ ggs | h wsdmr x t st us saftis j sH lafh
t st sif sumxsmicwtstif t tyix st us. ifsma (i
shwltsmij KX ifo  bj stmerxt dR ddyaq
i list sSRx. txast,musk <ckstastif ttyix k|l hwt
k tisif] tsxhw tt smij ;gJxhao b j H[-cu m&fsvif
sqgtmix xkistsmin ¥ nisif ts x hw qttisaf cxJitif
t tyix. ¢ kstast [h £xkmaxi [ & tsr tsik afsi] t tyix. lut
Jhexi[[is k if asaq sk if tshif st s.

put Rafpusif ckstastmisic tst s xi[ i 5 nalt
asaq . ks a if sckstast, pusrss xif Jits nafk [ hs as g
st tswhs|amssktsi naft @& t siyal. ixif mi
sicyaftifJr phKils t swh s jifsputal/erww fisc lapsif
ttyix. ixif1 h rhb xtgsmawfis af c ai stsif
t tyix,c gstissrx, ¥c itn . c htcunmalt ts Ilip tr
ckicxstsif t tyix s plawixfrxnaft s spilx.

luttaflipts if | wh & &cpla s plawixfrxnafk spilx
t welajwts +Hif thtiw kflisacss st tya 5].

bow

pour solids

sweetener
fish trap

flow into water
to spear

gather to
celebrate; respect

hut; shade shelter;
five days

dry fish/berries
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c Jlawks s kngf[gimw t &sfhtow- fx wist

Il Fwgm safa t Ba . JExboi tk sifs plawixfrx |Republic, WA;
t wslajwts - cedar roots

if s plawixrxnafbk spilx asttr p h k vats-stsylati]
r phkwtaj kmik.t sws[Spufus, na £ Kk iisks

ksrctiyap tsisx. na £ m  ip kic th k sfah[ptnx ixif kic t Sahaptin people

t twtss h| fitiwsSs wtssift £ kv t sllatsif
s knafginxnaft [ &ts [h £ ovis t roxi [ stahlaptnx.

hit shif syilx,if s plawixfxc p tsgs t
| kEskasmsts, t ] k" wtna L [ &gqs | h Wtss hip if
siifskafj £ tmut . [as s if af c 5t st¥ x,nhags s lip
siif xafci r tt ms pnik s. s afcin s ifif
s tsr sséts. ifilif ckacif s lip if syupsts si if ixif
sfi t.

lapnaf if s plawixsxputif ilif j sk h plawilx saftis j ts| live with; even

lapna[ if s spilx ¢ dzl a ugswifmiw r p h kagts ift L
slahtaptnx na [ xa[ Xxci x.

ssgvdzh skragl

1. aflki kif j shkif s plawixfrxnaft spilx?

2. ki shrwtskift wBlajwts s plawixfrxnaft gpilxki[t s a ckstx ?
3. alki if s plawixrxnaft spilxif wim sx?

4. sti if wi st s plawixfxnafbt spilxif wim s x?

5.sti i isafs s | Hwepgsstsif s plawixfrxnafk pilx ?

6. sti aJctst sts spi if s plawix¢xnafbt pilx ?

7. alki kal[ bj £ p xputs plawix¢¥xnaft pilx ?

8. sfwj h mw atpkctrwnthoutif s plawixfx nafk pilx ?

9. p ki ka[ cw wi ts i naft tstsg[ i s plawixrxnaft pilx ?
10.p ki ka[ cfulufs tmiktuft if s plawixfrxnaft pilx ?

11. ¢xkist if miktoft £ & ki ?

12. rxkist if siyaJ af b s h wiss glawixfxnaft pilx ?

13.sti if j £xmi sif s plawix¢fxnaft pilx ?

14.p ki ka[bj £ p xp wWts plawixfrxnaft pilx ?

15. afki kif s tstsrxif kst ustsif s plawixfxnaft pilx ?

16. afki kaf clda fxt tytyixi[ s plawixfrxnaft pilx?

17.sti i p  pwka[ b | mustsi[ s plawixfrxnaft pilx ?

07- fttafstb ¢ t tyixts plawixfx,sti i c stmstsr xi[ t tyix k|1 h wigft
19.switi [ s hwtsmuj gx ? sti tt s hent3 gx ?

20. afki j £ plfhttybhif ttyix kI hwas

21.sti  al hkerxg raf exfitif t tyix?

22. ks a if sckstast,sti if st ssx? ki ?
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12 + wifsputafsr xiJ t tyix,swita [ c aists,c qstisif t tyix?

24, switi [ ckicxstsif t tyix s plawixfxnaft s spilx?

25.stwj hmw tJhi aktssstsiya ]Jifs plawixfrxnafk pilx?
26.t afki kaJ ctajwsé xts]if s plawixfxnaft pilx ?

27. alki kifjr wstxi[ s plawixrxnaft pix a safa t aaf ?
28.switi [ kict t Lwtsti if s plawixfx ?

29.switi [ k xitsif s plawixfrxmi wistroif slahlaptnx ?

30.sti  af chla stisif s plawixfrxsqgs| hwts >

31. shnfve lipif sipifsc st stgxmi st ts lipt tmut ?

32. lapna[, swit af ¢ st b v $tswf s spilx ?

aclts Frgl

0 - gs plawkx¢rxk | ts spilx ? ma xit.

1- g jykclstfs tssj shsj s rgsk wgs' | Sfkatl sifs tssj tsh s pxlEnx?
swj hmw tt kts >

2 - g i j 5 tbieg k si ? alki awim ? ma xit

4. ha pts't”~ bvhfatafi wtssexkink?sfrwj hmw t & kts >

5. swit asqsk wts | ir rihgtxtky yla i kk bj kRhaanwi ? ma xit?

6. hap ¢j stc naft Faskmwts > af bjsthestp ? ma xit.

7. hac tskr fdlag h iowtfanwi naft  rgsiwts fxkinx rsfwj hmw tt kts >
7 - g bedvaitsr swigh shvth s h wekisk®sfrwp hmw t £ Kitt s > | °
8 - jbtdapt t kapi,hac tst r s W &Xmi ? sti aj &kmin. ma xit.

10. haanwinaft ‘la tk asrrgsk wts o b Xt p mp wits

11. ) s £~ bt gowtgim{ bk j stst tst us? s¢xkinx? ma Xxit.

12.naft fagsimwts+ g af cputafstpif sfht p? s¢xkinx?sfrwj hmw tt kts >
13. hackla ws wfit ‘'yrats lat? sxkinx?sfwj hmw tt kts >

03- ffsy shd+ g ikwmtsbh & tayalq ? tsti  ? ma xit

15.] 5 Bwist itss+ g'f ikt jbga ht kxi §k j & pwlsh ilawts > xitl °

16. hakmaxi [ & sr sk afsif t tyixas[it ,k htr g futs naft asaq sk if shifsti s?
ma Xxit.

17.ha h tr ¢§ swsh shjfitss jifbksasq sif t tyix,s i naft & tsiyal ? s¥xkinx ? s¥xkinx
tt kts >

07- g ijnsiflp  pw>ssti asc itn ? ma Xxit

19 hapt’j s westlf Jitxbo2st ilif Jtxb®ma xit

1/ - g | t abag hwdgsxkinx?sfwj hmw tt kts >

2l.hacat r swiatifxr p h k wt if>slahldptax ? ma xit.

22.tsti ] ts pbsgs lapnafts lat? ma xit.

23.switiJ¢c stbvieswts > xit | °

1C
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giils t il gag s

A. Verb Box aksc®i: Complete the verb box with the matching tense/aspect.

Ida /1 da t- to spear / pierce

i ci anweé al gl a | mni

mni

R p mni | 8x

intransitive
past/present

intransitive
customary/actual

intransitive
progressive

intransitive
imperfect

intransitive
future/inceptive

intransitive affirm. f— —
commands

intransitive neg. - -
commands

transitive
past/present

transitive
customary/actual

transitive future

transitive affirm. - — —
commands

transitive negative | --- - -
commands

present perfect /
durative

future durative

past perfect

future perfect

B. Verbal Exchanges aksc &1: answer the questions with a complete

the question and your answer to English.

0 - gda jtt ix? (ki )

SF XCi

sentence Translate

2. hak scld hw s »?7 (giwk

3. switksl dmixajw s r optFkihxot % w
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4. swita [ cldstis i kisu[ ? (inca)

5 haaksldd if & thAxal? (ut)

6. hal d tipif tla ya[ ? (ki )

C. Past/Present 36 Box aksc &1: Complete the box with correct transitive verb/object forms

Ida t- to stab/poke/pierce

i ci anwé algla |mni & mni IR p mni

i cid XXX XXX

anweé XXX XXX

al gl a

mni | m XXX XXX

mnl |.R p XXX XXX

al gt/a

mni | Bx

D. Transitive Verbal Exchanges with Objects aksc t1: answer the questions with a complete
& Xci  sentence Translate the question and your answer to English.

1. switi[j &[tld i ? (Tapit)

2. haldtt kP (ki )

3.sti ifldshwts >x) 'phwt

3 - gl Id fis(ttrptrpgi ? (ki )

5. ha Id tsisif r pltst? (lut)
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E Past/Present 36 Box aksc ti: Complete the box with correct transitive verb/object forms

Idl r -gtd stab/poke/pierce for someone

i ci anweé al gla [mn IR mni R p mni | 8x

i CB XXX XXX

anwe XXX XXX

al gl a

mni | m XXX XXX

mni |R p XXX XXX

al gt/a

mni | BX

F. Transitive Verbal Exchanges with Objects aksc t1: answer the questions with a complete s Xci
sentence Translate the question and your answer to English.

1. st ifj stk s P (kisuf)

2. haPiyarisldt t kif tla ya[ ? (lut)

3.sti if ] wftldk s h wasnafh & [r> "rjopsskhb

4, haPrasas [tk s hf t tyix? (ki )

5. ha Iottsis x aks[it ? (i [ lutif)

cdzs st N qa9 s

1. s spilx- Nespelem people

exam ple sentences:

1. if s plawixfrxnafb s spilx ] sk hylaci sifs tss] Shsgjfgstsjaxn itlift tk wist s
Ka ta. (The San Poiland Nespelem lived along the Columbia River from Rodgers Bar to a place on
the Columbia River below Goose Lake.)
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2. s sisif s plawix¥rx t £ smhlsif s spilx. (the San Poil are kind and the nespilems are mean)

3. i splawixfw fitst ° ©k htsw’ £ p [$§ &ilxtb s h wfsr tsdsg[. h(The San Poil pick a lot
of hucklberries and the N esplems gather camas)

2. KR ta- place on Columbia River below Goose Lake

example sentences:

il s plawixrxnaft mohkwt yladlshfs tss | shsgjgss]dxn itlift tk wist sKB ta.
(The San Poiland Nespelem lived along the Columbia River from Rodgers Bar to a place on the
Columbia River below Goose Lake.)

1- s wish [ Wistd. (T he people from K a ta have a lot of kids.)

3. wi m - root digging place

reduplication: w wi mn

example sentences:

1.iJt wtlafw fawtimtkmsi[ s tssj tsh { kafepi h k[ s plawixfxnaft mohkw witm &
mh wts - '"Sgd k" mcr sn sgd rntsg ne sgd Bnkt | ashnPoiv
and Nespelems.)

2. [ I Jwix w wém g R. (They moved to their digging spots.)

3. iwém Lthh §i . (There'salotof bitter root at my digging spot .)

4. stg é - pronghorn antelope

example sentences:

1. sapif wiiti[ fta afs #s] m, i staé&, s plawixrxt wBlafwf- '@ knmf shld
lot of short horns, antelope, in the San Poil country.)

2. hts ™ [fib h §ré.\(The pronghor n antelope are like deer.)

3. s rs shdir 8 é&.1(Antelope have nice horns.)

5. ky y[a ék- double-curved bow

example sentences:

1. spi il ky yJ[a éknaft i af c st sts. (For hunting, they used a double curved bow and
arrows.)

6. ni ¢t / ni d& poursolids

reduplication: no*f j fs d&tim

example sentences:

1. tskKissxifslaq, pR dehdis agna[t £t rmisifcicr ttx x utsic stisilif t £
ag. (They roasted the seeds by putting them in a bag with hot rocks and then turning them over
and over until the seeds were toasted.)

1- ikmifri ¢t h§1 g ? (Whatcontainer shall we pour these seeds into ?)

3. nRi dzn Rh fimtaq ¥q ap m~ [Peur the potatoes in the sacks)

7.1 IRxmi - sweetener

example sentences:

14
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1. si , sttrctst st xi IRkmi s (There were used with bitterroot and foa berries to
make them sweeter.)

2.1 " rsmdh ] [ xmi . (Ilike the fake sugar .)

3. cr [ hhif xxuk ° [twtmag v h [xmis. (The cakes taste good when sweetner is used.)

8. st us fish trap

example sentences:

1. s tstrxif kst ustssp qisifc c ixal] sgftis] Sfchtwohsjsstssj shs| ts- '
fish traps at the mouths of all of the creeks and rivers that flowed into the Columbia.)

1- h [ tthhxitvks ubtst ™ wisd v s . f (The people would build a fish trap  when
they want to collect k okanee)

3. ctstm tikst sshfs¥ hJ us t £t thf sj VTdlui t ti iif bkyl ‘ag p] pwt
(They use sticks to make a fence then they use chicken wire to fence itand  there the fish get stuck
and can't get through. )

9. t n g ¢ flodzinto water

reduplication. sdsdohsj ts

example sentences:

s tstsr x if kst ustssp qgisifc ¢ ixa] saftisj W htwngr igskssj shs| s5- 'S¢
traps at the mouths of all of the creeks and  rivers that flowed into the Columbia.)
1- x1 csiwhdr dr dnogriigds 5] htwt wiss] tfAll fhéscreeks run into the rivers then

it gets bigger.)

2- ngpist [ rdmrdq hdt ] gWhen you irrigate by ditch you flow  the water in the ditches.)

10. j ., - to spear

reduplication: kidd °

example sentences:

0 - mh wWRgk ttyix s tssj shgkj tkifk Taptifsi £ - ' Sgdx sarkonim r
the Columbia River where the water was shallow.)

2. j djtd p p wis(Spear the fish.)

2 - nestxe | dsish f p ts[ {(Bé&careful or the bee might sting you .)

11. a- gather together to celebrate

example sentences:

1. ht shifr x hkw [ spphakiwitxhafh spilx ¢ a cputafstsif t s x h w 1&p. (Like
other Syilx, the San Pois and Nespelems always celebrated the arrival of the salmon.)

2.k ksxi[ * [ wlc _1(I'm goingtojoi the people atthe gathering .)

3. hap gqw/ &1 K ?v (Are you folks going to the gathering?)

12. cpgtayst/ p atay t- to respect something

example sentences:

1. 1. ht shifr xhkw [spphawiwixhafth gpilxc af cpegtaystsif t s x h w lap. (Like
other Syilx, the San Poit and Nespelems always celebrated the arrival of the salmon.)
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2. cpgr _ dhrf [ hth [ kj umtnm. (We honor and respect our foods is why we have
rootfeasts.)

2 - x} ‘wsk h Jopds st . (We respect the whole world .)

13.  dR dByaiq - hut

example sentences:

l.ifsma [i shwikltsmu §x ifo  bj stm¥lxt dR dByayq j tist s x. (Wo men would
gather lots of su  flower leaves and they would build a little lodge to make a shady place.)

1- hd wtxrers tzRdBw _qu. (Their houses were made of leaves and sticks .)

2 - bxw g dzRdBw _ 1 oif | h pujx.ts(Come to my hoga and camp there .)

14. i list - shade shelter

example sentences

Lifsma [i shwixltsmuy X ifo bj stm¥lxt & ayalq | H list sSRx. (Wo men
would gather lots of su  flower leaves and they would build a little lodge to make a shady place.)

2. uk © [ wisrer[a i lést g R. (They plant trrees for shade .)

2- sjh [ap[Ltwist ~ Jc a cig rxR (The horses stand under the trees to be in the shade.)

15. ckstas t- five days

example sentences:

1. txast,musk ckstastif ttyixyimiwts k tisif tsxhw tt smdjpgixho bj t -
(For four or five days the Salm on Chief would take the salmon from the trap and lay them on the
sunflower leaves.)

2. ckstastl h ksth (Illseeyou in five days.)

3. aRjBs grj rigtnm. (You sweat bathe for five days .)

16. ¢ itn -todry

example sentences:

1.ixifl h rhb x&tigsmawfis aJ caistsif ttyix,c ifgstissx, ¢ itn . (Afterthat all
the people bega catching salmon, and women did the cutting, cooking and drying of the salmon.)

2.k ¢ itn . k bj st hm x1 e gtirs Hldryfood. Iputallkinds of food away and I
dry everything)

2 - gc ilfnts ? (Do you dry food?)

17. 1 | w g mRepublic, Washingbn area

exam ple sentences:

0 - urifves | F wgm safa t a al . (They also traveled north to Republic to dig cedar
roots.)

2.k jruxs [ w Mws (I goingto Republic)

3.0 lif jksmf pr hk Wt g n(lhave relatives at Republic .)

18. R & - cedar roots

example sentences:

1€
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0 - urfves Jt x b safa t B a . (Theyalso traveled north to Republic to dig cedar
roots.)

1- B [1 ast ya ts° [(The cedar roots is good for mak ing baskets.)

3.c st rsfy k®n MmE" kb t im” [(Theyuse cedarroots when they make birch baskets.)

19. s[ah[Rptnx- Sahaptin people (Nez Perce, Palouse, Yakama)

example sentences:

1.na t m ipkic th k s[ah[Bptnx ixif kict t Ltfrwsms hfitif wwtss - '"Gnvdud
bunch of Sahaptin came and attacked the San Poil and killed a lot of people.)

1- qbh ptnk cyyatt [ " ti tkkil t tsaltsas. (The soldiers chased the Nez Perce from south.)

3.¢c hwsk [ Btnk j h [s jstsminy. p(The Nez Perce speak a different language than the
Okanogans)

20. pJawdx sa1té i- &an Poil River

example sentences:

1. lapnaf if s plawixfxputif ilif ] sk h pfawdx saité i. dblowadays the San Pois still live along
the San Poil River.)

1- nfdiis n [ &ur ‘tig j You cross the San Poil river.)

3. Lkcis M &ur "i§ s 516 h{skj (®hen the Sanpoil river floods its very swift .)

21.c dzgl augh dzl a u g-vike with

example sentences:

1. lapndf i s spilx ¢ dzl augswifmiw r p h k®ts iftsahlaptnx naft xaf xcinx. (The
Nespelems now share their land with a lot of other people, Even the Nez Perce and the Columbians.)

1- bitma hggl hwasdzl augsvh £ bhbjr am [[rEWhen he moves in to his wife's
home he lives with his mother -in-law and father -in-law.)

3. lut aks dzl @&mn h [ Rk’ [ - "Cnmé&s khud bknrd sn sgd fq

22. dz_ - even

example sentences:

1. lapndf if s spilxc st b vstswifmiw r ph kadets iftsdahlaptnx naft xaf xcinx. (The
Nespelems now share their land with a lot of other people, Eventhe Nez Perce and the Columbians.)

2. dz_ h]rfjaw" [nixhh p h k wHventhe dog can understand Native language.)

3. dz_ hg&l " [hir si h (Eventhe white people eat bitterr oot.)

17
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03.s R _v dz

qu s
pmi s it's beak
] § &g h yellow feet
Jaslkst two hands
a ninafw ts a little
] § g h yellow eyes
f a sq stand up on head
j & inaf have little ears
a tap s perch on a branch
pti / pat pinch
tti /tat tear up
fcma ts whole
s g ot burp up
crc ayafst owl pellet
mipnwiw ts get to know each other

j Hmnwiw 5

be close to each other

s | ks sit together

Xfor mv hwt nibble each other

br st Sk af holes / hollows

bt s5p 51 hole in tree

a kstas t six days
j £ xnit lay on eggs

sm ma

ifs¥  wwlappat £ pmi s plak da t Lt beak
i dz dgp ¢ clafki akswik | tsifis¥ = wtsf tkrk h h k w5 yellow feet
S¥  wits haskstif ksi tsp sr[sqsh h vatnédav dilif two hands; a little

¥ aafp - tkrthl h k wtS wricmisnlastkif t sqs | h wts -

i dzdgpifsf  wt R R a sq ht § ts g k
iR ééa.ifsf  wtlabk u ,if strgpifst r b dktwhs -
ixiftt ht iflkwsawrr - cittifs¥ ~ wtsimifst if

u ts+if fakswix if s ht it @& s0a.
i sf  wtht rfrcambft skrklakaf, crcamafs s | h
t b BBaft j(sjilxs | g @cka[cpi t &bl ht

yellow eyes; stand
up on head;
little ears
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a tBodf tkkxmikst afc las- cpk  ifs¥F  wi+
atis afcajtd st lafw tk Halafjws -if +fh k ,
br j hix kK wik tsti L itlif cyr 5] cutct wiss  thbs. | B

lutmiyak tesiwts[(ifj r bpifss, if s+ ~ wtg[ilif t £

mshr -cswt[i[j r bpifss,if s+  wtptist £t j ST
afcattifhkst tfhbtr -bj sttt © tswtsmf
T witkema dgt £ m tis, ilif kspu t, ks i, ksyups.
lat, Jad k ka[bs ks dz) dgé tsif s
wi X sifcRe RByaststs i ,spu t xifmixsti Ilut
[t os.

ifsf  wt | iksrsr twk ifjr wissr -
cxfhs bsj b romipwty dgxtc p sbthit wiks
i hmnwé dzr i dgjs afcat xRigl udgyfysr  wt
ctst tksfafusalt s aJcRdAR d#d a if s a ixif af
cppla ylaci sif ¢ c ixal na[t Jtis j ts-stmists if
j pddg k p ag £t aRdzo dz mmulx.

ka[k il k muslio tcJaJusa[ Jas|flupj rs t

kst3s t i qR knitst Ltstst- ¥ SBtI[sF  wt
prplasprs | tsk h [afusglt mat kaftfup j r s Ksths t.bi [
tu t s¥  wisr |xditput tststt Lif txk tisif
prplasprsputks t wixafx. iftu t s¥ = wts amphtx stis
kmut sif [alusg[ naft fplasprs. ifsqs | hwis™ webs hw
t ksfh sif tu t

i s¥  wtixyr mistt sninaf t £ Bt S+ i htwk r[s r
s¥  wtsfs¥ hwts mhwth wi r{gusalthst spao p &,
mahuyaf, snkstiyaf,s sxt oft fala ixifts | hwsfh &5if
s ¥  wiafusal naft rplasprs. if sqs | h wis™ wis sis
ctphwis RAlusghr - fnh pvis& & ts v Hztbrj ¢a” .

S ¥

tsh mmags s Twts

t
a

perch on a branch

pinch in beak
tear up
whole

burp up

owl pellet

get to know each
other; be close to
each other; sit
together; nibble
each other; holes;
hole in tree

six days; lay on
eggs

drive away

ssevdzh slkragl

1. aknkwsh ™ wts >

2. ki i[sisptsifsh wt >

3 sti tt WBkwBgsh wt >

4. sti af kistsifs¥f S wts H1? b
5.sti af htrfsrk "lwis >

6. sti af kistsifs¥ " wis ] § fac?
7.sti af kistsifsf¥ = wts lat?
8.sti af kistsifsf " wts £~ Zoh
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8 - t " ,stbodf kistsifs¢¥ ~ wts L jtt mhbwtlstj ?
10. ¢xkist ts ¥ " wts t b &kt & kiws j r b pifsts ?

11. rxkist ts ¥~ wts dkwff r b pifsts ?

12.sfrwj h myastkt kaftisks 5] i tsifs¥f  wts >

02- g witifts™ m kawafsifs¢¥  wt >

14.sti af kistgsxi[s¥  wtsmrm kawa[t~ [hhsw bsj bmvhwt >
15. alki ka[f c st tks [afusalt sifs¥f  wi >

16. swho [BfUusab ifsf  wt >

17. sxass L ¢ dmitstifs¥f " wts >

18. sxass L] st h [afusalt i s ¥ = wtrplasprs?

19. haiftu t k sgqs| hwis® wts disifwrplasprs?
20.swita[ bs hwks/hbkiftu t Lt  Bbtisijprplasps?

21.sti i xmi sifs¥f S wi >

22.sti ifs| hwsfhkifs ¥ = wiausa[ naft rplasprs ?

23.xkin  mi  sisifsgs| hws™ wts >

aclts Frgl

1. haa s m kawa[ misntastki[ t anwi ? ma Xxit.

2.sti af] j hrswi ijt® ma xit.b

3. ha htr § eweamd]tskrklaka[, crcamafs s | h ytsis aft{ hflsj & s rxkinx ? srxkinx
tt kts >

4, haswit asrrgsik wisj &§ fackaJctst t trcl k. af c lat? ma it

4 - gsulafwts jj Blafwtsi aft asilift ?srxkinx? swj hmw t £  Kftsg lgwsr s
ma Xit.

6. hastt frcma s t &t ris hwixkisx? &wj hmw tt kit s >

7.sti i Jt | swaciswt ifikrs > xitl

8. ha nagss lat, Jadg k kafhisaks ts] t§fi t? s¢¥xkinx? sswj hmw tt& kts >

8 - g Xxjttsrrgsi tk? s¥xkinx? s¥rwj hmw t £ lascwi x? ma rxi. h
10. haknagsaks m ka r td =~ j rwiE? s¥xkinx? swj hmw tt kts >
00- g [mowiwtk "t tro o mwh Jitss'mn'kawa[ ? srxkinx? swj hmw tt kts >

01- g mulk krljrid saciswis > iaftg aciswt fxkinx*sfwj hmw tt kts >
13. asrrgsik wts [osqgsH hwbts h iks(h ki sma [i ? sfxkinx? sfwj hmw t & kts >
14.tsti kif j 5 +#hmeisw? ma Xit.

15.tsti  k switkaJct phwircswts > xit. | °

05- g sirf stk tph wisrrgsikteyts mkinxrsfrwj hmw t & kts >
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giils t il gag s

A. Verb Box aksc®i: Complete the verb box with the matching tense/aspect.

pa [/ pa t-to pinch

i ci anweé al gl a | mni

|

mni

R p mni | 8x

intransitive j spa pa
past/present

intransitive
customary/actual

intransitive
progressive

intransitive
imperfect

intransitive
future/inceptive

intransitive affirm. - —
commands

intransitive neg. - —
commands

transitive
past/present

transitive
customary/actual

transitive future

transitive affirm. - —— —
commands

transitive neg. - - ——
commands

present perfect /
past/present
durative

future durative

past perfect

future perfect

B. Verbal Exchanges aksc &1: answer the questions with a complete

the question and your answer to English.

1. hak pa t mi ? (lut)

SF XCi

sentence Translate

1- g fcpmistasla t? (ki )

3. switks pmixa[x tk¥k ixk ? (t t it)
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4, swita [ cpstisiftal a[1 a] ? (anwi naft tlin)

5. hai[ x xanik ifspa p? (ki )

6. ts tspsascpa ? (ki )

C. Past/Present 36 Box aksc &1: Complete the box with correct transitive verb/object forms

pa [/ pa t-topinch

i ci anwé algla |mni & mni IR mni | Bx
i CB XXX XXX
anwé XXX XXX
al gl a
mni | R XXX XXX
mni |R p XXX XXX
al gt a
mni | Bx
D. Transitive Verbal Exchanges with Objects aksc t1: answer the questions with a complete
& Xci  sentence Translate the question and your answer to English.
1. switif ot tsk? (Makaritnaft lahr
2. switi [ ptsis? (if sswtsj rqin )
3. sfwj hmvw p shwtsa>t)
4. ha p tsi ? (kiwa)
5. ha p s hrw® (ki )
22
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E Future 36 Box aksc &1: Complete the box with correct transitive verb/object forms

pa / pa t- topinch

i ci anweé algla [mn IR mni R p mni | 8x

i CB XXX XXX

anwe XXX XXX

al gl a

mni | .Fﬁ-_ XXX XXX

mni |R p XXX XXX

al gt a

mni | BX

F. Transitive Verbal Exchanges with Objects aksc t1: answer the questions with a complete s Xci
sentence Translate the question and your answer to English.

1. switifksob tsk? (s swis wist r (

2. switi [ ks p tsis ? (iJ srw tksglaw )

3.sfwj hmvassad ? (it

3 - t b pj ? ®j )

5. haaks pa fx? (lut)

cdzs st | qa@ s

1. pmi - beak

exam ple sentences:

1. ifsf  wolapat £ pmi splak Ha t H 5 t5(g h (Screech Owls are usually gray in
color with a gray or black beak and yellow toes.)

2. i[skklaka[ t pmi ska[ csi r s t tm{Chickens eat and drink with their beaks .)

3. iJlikdk j [t pntist pmi s. (The rooster pecked me with his beak .)
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2. i dz dgp g yellow feet / toes

exam ple sentences:

1. ifsf  wolappat £ pmi splak tda t B dz dgp g (Screech Owils are usually gray in
color with a gray or black beak and yellow toes.)

2. i fdzdzp g1 ‘& (Ducks have yellow feet )

3. 1askst- two hands

reduplication: [ °~ r ikst r k

example sentences:

Liftkek | hk wts wis haskst if ksi sp tsr{sqshl h vatninalw s ifhs Klalp ts - '@ e
screech owl is about two hands tall, and the male is a little shorter.)
2. sjssmk p} kst1 _ qgist g j(He hung on tight with two hands .)
3. nk“a tq1 &ssjt ka ti. (He usedtwo hands to get candy .)
4. a néayv da little
example sentences:
1.iJtkeb | hk wts wris Ifasikstif ksi tsp tsr{sqshl h vatnéav dilif ¢+ alafp - '@ e
screech owl is about two hands tall, and the male is a little shorter.)
2. ha h[ jads? a néd _1 ik dzst ix. (Are you feeling better? I'm feeling a little better .)
3. wa a nd _\ bdews jrrpst if F (My child is walking a little bit )
5. i dz dgp gellow eyes
example sentences:
1. i dzdgpifsfr  wi ft tr a sq ht gltsl ptk j & inaf. (Screech owls have
yellow eyes, and little feathers that stick up on their heads that look like little horns or little ears.)
1- r \ic¢ [ dz dzp (seme cougars have yellow eyes)
2 - h [ urrpshrilkamist ~ Hp[ r h wek ~ [ wtdz dzp @lpegMaori people from the other
side of the e arth have yellow eyes .)
6. R a sq - stand up on head
singular. la sgn
example sentences:
1. | 5 sfgifisf " wis R R a sq ht gltsl ptk j & inaf. (Screech owls have
yellow eyes, and little feathers that stick up on their heads that look like little horns or little ears.)
1- RIA sq att  Ikxp [iTbe quail are fast runners .)
3. L cwanx ¢ la sgn . (When they war dance they stick a head dress on their heads.)
7. R é&a- little ears
singular ¥ im~ |
example sentences:
1. | 5 s[gifisf  wk ft tr a sq ht glisl ptk i IR éa. (Screech owls have
yellow eyes, and little feathers that stick up  on their heads that look like little horns or little ears.)
24
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1- h [ sk forwg(oky tsbtst brab ™ [ s Rhd 1 GWVhen akitten is first born it has little
ears)

3. np'r pimp b Rré& _as m kav ~ .[ (Your sweetheart will scratch your little little ears .)

8. a tRo dzmit on abranch/ rail

reduplication: a [ " tap s

example sentences:

1. i § fc kaf cpi t kbl ht a tBodf tkkxmikst af ¢ lat (They hunt at night,
and they sit on a tree branch during the day.)

1- hfcaphiBwth " aa  [¥ so  mtuf r(bheaudience sit on the fence when they
wath a rodeo .)

3.0 lif a tBo da pus. (The cat is sitting over there on the branch.)

9. pti [/ pat-pinch/ carry in beak / peck with beak

reduplication: ppti / ppat

example sentences:

O0- cstwts[ifj r bpifsts,ifsf  witptist tft  safJcat tifbhkhr [htk - '"He h
bigger animal, the screech owl carries it in its beak to a tree branch where it tears it up and eats it.)

1- kit trEppti trj g ¥ [(When he wentto collect eggsthe h en pecked his hand.)

3. tstoisw bfol "ropti ttstdt r t tnudt . (When a chick gets weak the rest of
them will peck it to death )

10. t ti / tla t- totear

reduplication: tkldm

example sentences:

0- cstwts[ifj r bpifss,ifsf  wtpshrftitsafcat tifbhkst tfhtr - '"He h
bigger animal, the screech owl carries it in its beak to a tree branch where it tears it up and eats it.)

2. £ bjitswiiro h prqqi ttla t r £ h gWhen the eagle finds a dead deer it will tear
pieces of the meat to eat .)

3. tlal't-h Jkalat. (Tear the bread into pieces .)

11. cmal dz whole

reduplication: cmhknal ts

example sentences:

O0- biHfstt Iaswsm[sf ~ wtRma dzt £ mntis,ilif kspu t, ks im, ksyups. (When a
screech owl catches a mouse or other animal, it eats the whole thing: bones, fur and tail.)

2. h [if dmimal dzmi g s h w tpatdy.[ (Cook the potatoes whole .)

3. h gmal dzh [ ~ firb .lutaksni us . (Leave the deer whole, don'tcutit in half.)

12. dz_ dgé t- burp up something

example sentences:

1. shmmagss lat, Jas k kaflisks dz dgé tsifsf ~ wi x ki crc ayafstts i ,
spu t, xifmixsti lut [ £ &ds. (Then, two or three times a day, the screech owl throws up a pellet
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containing the bones, fur and anything else its body could not digest.)

1- ktds gt h [ t ik ~ [ s tstt kimiobp. (If the baby doesn' t burp it will get cramps )

3. mya wtets sth[whs | s ctde_ g t. (Ifl drink my sodato o fast|burp.)

13. cRe Ryayst- pellet

example sentences:

1. tshmmagss lat, [ad k kaflisksts] i tsifsf > wt wx hliJcR RByastts i ,
spu t, xifmixsti lut [ #& bs. (Then, two or three times a day, the screech owl throws up a pellet
containing the bones, fur and anything else its body could not digest.)

14. mipnwé& ddear about each other

example sentences:

0- odhs bsj brkemipwiy digxitc p sbthit wiksj tfmnwiw ts ( When a they are getting to
know each other, they call to each other while flying closer to one another.)

1- slhliftecs s nwiwts Imipnwé& dz (Cattle smell each othertolear  who she is.)

3. put mipnwé& da [ * s J mMmrsiccmri ¥ x. (A couple has to know each other before they get
married.)

15. i lhhmnwé& ezet close to one another

reduplication: j £~ [ £ iwfd mv

example sentences:

0- odfh's bsj b mwmipwisgfxtc pjtrbthit wiksi lymnwé& dz( When a they are getting to
know each other, they call to each other while flying closer to one another.)

1- Hpux j st ] 1] &1dkH uk t &s hjtbis {When we camped out we slept close together
so we wouldn 't get cold .)
3.1 _1 Wwildag rh ot s hnfip. Putj theim close together so they can fit thruogh the door .)

4- ¥ thkeb mv hlxyy s lhmnwé @x, tr sst¥ s [k a r t #& r mv hbw When a pair comes
close to each other, they bow to each other with the wings hanging down.)

5. tr wts [ hrsprh khnfts1 | &) deR (iThere were so many people they were close together )

6. myati | _\ Wldas =2 £ p {Your plants are to close together .)

16. xR g | u-gibhkde each other

reduplication: wf o wf avtsmv h

example sentences:

0 - § jss&f cat ixkn gl u.g Whn they sit together in a tree and nibble at each other.)

1- Jetrx  tHrwjsts br Bw™ [ | hs wtha'v R n & ldz(When it gets dark and you go to
the creek you'll see people eating each others face s)

3. £ b J thihlh [fik a v Rn v Rndg (When colts play they eat at each others face .)

17. 'R d# & - hole in atree/ in the side of something

reduplication: & ftst &L [

exam ple sentences:

1l.iJs¥ wttsb tks [afusalt s a[c IRdRd# a i[s a ixif af cppla ylac sif
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cr cf ixaJ naft Jtis| - '"Rbgddbg imholksrin tle€s plahg erettks and rivers.)

2. £ st xxuk [onvtsRizI 8 adz hu f x t anats. (When they make sweet breads
they make them with holes in it and t hey called them dough nuts.)

3. ixif <acl Ri# _1 (Thattree has a hollow center .)

3- snm] [shwt ~ [cl RE#FE_1s a, " fclItr | stsga af s (Horned owls like to
make their home in a hole in atree, cliff or Evena barn.)

18. aR dz 0 dz- make a hole in atree / post

reduplication: b | sk s5p ts

example sentences:

1. c stmistsi{j s dq k p aq L ‘aRdzo dz mmulx. (They like holes left by redheaded
woodpeckers or by flickers in cottonwood trees.)

1- mfit o aptst ¢ a cl Rizode £t ¢t [ tvpumin. (The aspen dries hard and has a
hole in the center you can make a dru m hoop.)

2- mimyx ai [dBRdzo ddif] h falgoj ~ [ Hklof. (The cotton wood trees have holes in them
the woodpecker likes to bang on them)

19. a kstf3s t- six days

example sentences:

1. [as|ffupjrs at tkstistj r§ knisr tHst. (The eggs hatch after about 26 days.)

2. i amkstBstl hckicxt k f pkswfs {(Only six more days before she gets back from that far
away land.)

3. amkstBst miw wa ~ [ & . (Sixmore days of school and they 'll be done .)

20. i R xnit- lay on eggs

reduplication: j L & fIxq it

example sentences:

1. faslfup j r s at tkstas t i gR knitst £ t5 5t. (The eggs hatch after about 26 days.)

2.0ut i T me*HL raj ¥ 1 x1 R8xg it . (The chickens dont lay eggs anymore they
all are laying on hatching eggs.)

3. Lrai Mg it hfjf 3  isnsds t Emipr éNhen ahen islaying on eggs to hatch
she gets pretty cranky she walks around all  fluffed up .)

21. aog vV dzq r - drivepdyive dslay

example sentences:

0 - mhywybsawev dzpr gafa . (They will even drive away people if they get too close!)
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04. n snéq

u s
s t¥ smt digest
ptsbmvhwt call outto each other

tr ssty s hang down
Sr mv hwts nod at each other

ka[t [up kstas t 30 days

ckmut st/k mutm t sitlive with

Cpf pu st be killed

sm ma

if sning[ is aft t skkklakaf[, mat Jas s ufxa if
ksi sp tsr [tsk a hs a ksts ufxa if kswrswisx st

a gqs.ifsnnaf] u t kxbit t ht plaif strgpifstr t
plak piqif r pdei ks. | § wfs R t tuniwts ladk Ha
if pmis.ifsnnafc fla sq tstqgpifsts hit 85 ts qi
k inaf if saf s. ifpaputifsar sifsnnaf,na &t [ h
tkik | h kawmsnafw ts is aftki{ t sqs | h wisal.r mh £ tsSh
if skkklaka af htr{sr hips+pb & B tif
stsphksts. isafx ifsnna[t £ b vpxanm.

if sninaf sj & facka cpi ttbhl ht s lat t
sscpi s s fcixift £t k#cldiyap ts sstsif s[h £t liklk
nafk pgqi . i [ sninaf £ “cpi atis afcat Lii
ithf ct wiss tfltyafstsstih if scnixsk ifr bvhjr -
claflki t wissmplawts t wglajwts tldstssti if
j rjn@fs. if snnal ht rfxrcampfs s | if mdafwthf h
sx t s tsprplina[ naft r jj st if kmaxif snina[ nia pa/
h £ rf snksiya/- clafki if snnal htr{sr ~wtsha la
t £f h wwsts rpdasprs.

mat ti Lsxakrki[ f iyak mwiassw cins if sningf,
L vIix sscrc ayaft s, ilif cmawi[ t spu t, s It bk Jwh
sti lut dz_dR dzbs. i [ snna[ c stk wis af ¢ & tSt af
s a, afclttr | stsga aft . L clafki ¢ st st¥ X
i shifskklaka[ if s [aJusg[t saJ cw st5t K -

stsrtr sywtsl t fsggshl hwgik [nima Ji

digest
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sning[ o dza | g v fztkRa | u ¥, gdzt[mnwiw BX, call out to each
tRder dR dzif sk a r tdzg| uBw dzt mhlovismwixw| other; catch up to
if asaqr t{tpmhs. each other; hang
if snina[ prgpiq Jasko tclafusal . if tkfk | h k wts | down; nod at
i RiIxgnit mat kalup kst3s t. ¥ ts st if prplasprs if | each other; lay on
prgpigck k piaft £ kwtss tbk w- kst skdaci s top of egg; 30
st tstsif prplasprr ) L wikkxmikst | & d JaJusgft s. | days
bkr Jup kstskaci st sts tstr twew s[sthif prplasprs
ckmut stsif f ¥ apr td if scgfap ts +if thiwrisljcut | sitlive with
kr  afay
if sningf kt sfitismi r - clafki ctiyap ts s¥rxs{r
bkt ‘s s [afusgft r - cpBoustif sninaf,ixiftr phkt |Kkiled
cpust ,lutt shifts| hwi-

ssgvdzh skragl
ki if sitsp tsif snmaf ?
aknik w Esniha[ ?
sfxkinxifsaf sifsnna] hi s t5 g ?
ki wthwtifskbt | hkyts srp h wisa[ P m
swj hmw ot tprbte I5'ti[] tstsplhstsif sning[ ?
sti. af kistsifsnna] sj & f@c? s lat?
sti. af Kistsif snnaf £ = b o%?h
8. sti  a ht rfsninafl?
8 - ¥ wici if sningf, sh mwakiy wl h » sif sosc ayaft s?
10. afki kaf ¢ stk wtsif sninaf ?
11.p ki kaf ¢ mink if snina[ ?
12.sti  af kists xifsggs!| hw@ m’IJl snna[t nmbj v hr®
13. aknik w f [afusg[s if sninaf ?
14. tsxas tka[ b jrtxgnit if [afusgfsif tkit | h k W& ?r m
15. k ki if snnaf prplasprr t sk ?
16. sxass tt | kkwmsiiksts] g Jafusa[t sif sninaf prplasprs ?
17. tsxas s twew ts[sthf snina prplasps ?
18.putp ki t t fisljcutif snina[ prplasprs ?
19.sfrwj h mw twiftid xmsi sif sninaf ?
20.switi [ | h rdp taf cpust if sning[ ?

No agprwDdRE

acBts Frgl

0 - g ftjtis rpt B htpla? sfxkinx? s¥xkinxut kts >
1- fFjpth tks +  gf la jsds ? Is¥xkinx? sfwj hmw tt kts >
2 - g = pags® haswit asrrgsik wts pdgs ? ma xit.

4. swit aks fcktiyap s st aks[it ? ma xit.
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5.sti k switi[] sfuthalr s wis Fff 7 gwit kK sti if ] sfuthast s? ma Xit.

6. sti  ascrix ts | § fac? sti  ascwik ? ma xit.

6 - j & wis]s thwtss m+ agaksuwtss [mulafwts >xkinxr? sfrwj hmw tt kts >

8. sti akgfik tt ktastc s 't tur s wts  >xit. |

9. has stsga aft iaft aciswt fxkinx*sfwj hmw tt kts >

10.naft ‘latkhapc ptsbmvhwt feimthwt sy sr mv h wisxkiex? sekwj hmw t L kts >
11.switi J ckmut r s wits > [ ckmut hss s A ma xit.

12.sti  if miscpustsif r p h kasrgsk wtsi{s it? i [ ksk qn 2?2 ifr ] > mw>s sh?

ma Xit.

giils t il sag s
A. Verb Box aksc &1: Complete the verb box with the matching tense/aspect.

pi [ pi t-to hunt

i ci anwé algla |mn IR mni IR p mni | Bx

intransitive
past/present

intransitive
customary/actual

intransitive
progressive

intransitive
imperfect

intransitive
future/inceptive

intransitive affirm. - — —
commands

intransitive neg. - - —
commands

transitive
past/present

transitive
customary/actual

transitive future

transitive affirm. — — - ——
commands

transitive neg. f— - — —
commands

present perfect /
present durative

future durative

past perfect

future perfect

3c
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B. Verbal Exchanges aksc ®&1: answer the questions with a complete
the question and your answer to English.

1. happi tspifsits > "kts(

SF XCi

sentence Translate

2. haps fcpi xtsnit B[ (ki )

2 - g 1 ajwsrirap ? (lut)

4, swita [ cpi stsif sprqpap taf ? (i canaft Gs) b

5. sti ascp ? ( lic)

6. ha lanlanik akscpi ? (kiwa)

C. Past/Present 36 Box aksc ®@i: Complete the box with correct transitive verb/object forms

kmutm t- to sit/live with

i cB anwé algla |mni IR mni IR mni | Bx

i cid XXX XXX

anweé XXX XXX

al gl a

mni | m XXX XXX

mnl |.R p XXX XXX

al gt a

mni | Bx

D. Transitive Verbal Exchanges with Objects aksc 1: answer the questions with a complete

s Xci  sentence Translate the question and your answer to English.

1. switif kmutm s wts tsr dkh? (is ®y)
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1- gl siwjsits r[y Igskmit s? (ki )

3. sfrwj hmw t Hr pS&tis®8 ( sis)

4. ha kmutm tpf x ? (lut)

5. ha if astmikmutm ts ? (ki )

6. hakmut ssxtspifsits >) ' Kkts

E Customary/actual 36 Box aksc 1: Complete the box with correct transitive verb/object forms

ckmut st- to sit/live with

i cB anwé algla |mni IR mni R p mni | Bx

i CB XXX XXX

anwé X XXX

al gl a

mni | m XXX XXX

mni IR p XxXx XXX

al gt a

mni I 8x

F. Transitive Verbal Exchanges with Objects aksc t1: answer the questions with a complete s Xci
sentence Translate the question and your answer to English.

1. ha if astmini a pckmut &m ? (ki )

2. hacmistiwts r §jhtg[tckmut sts ? (lut)

3.sfrwj hmw tt jdat Stis? (stmsilifs)
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4. hackmut st tpnicif ? (kiwa)

5. hacmistip sti tt bj trtsx? (lut)

6. ha ckmut st sPrast ? (lut)

cdzs st | qa@ s

1. dz_dR dzbnt- digest/ able to grind

singular: ts° s omt

example sentences:

1. mat ti tsxlakki] f iyat mwiassw cinsif snina[ £ v ik s sac ayaftns, ilif cmarwi[ t spu t,
s i tit [whsti Iut dz dR dzbs. (About 8 hours after eating an animal, the horned owl
throws up a pellet containing any fur, bones or other parts that it could not digest.)

1- cjdasdzifr Lt hpfts ihawts t #stjtmbwtstal almi s. (Yougrind the meat and
fry it, and you make a hamburger.)

3. c dz dzgRxqgf srsqgi t Ltst tlpari . (Theygrindgrai and it turns into flour.)

2. o dza | u call tdzeach other

reduplication: p 8 p &b

example sentences:

1. strtr sywtl t fsggshl hwg [nwna [i sninal o dza | . ( beJanuary or February,
males and females begi to hoot at each other.)

1- swishif§ pxap s tddz ocdz (When the train goes by it toots its horn.)

3. odzag.ck + ! bwijtgtikt [ (lcalledto him,teling him it's time to eat.)

3. tR dzr d® dz hanging down

singular. s ftss 5

example sentences:

0 - f tkitb mv hkawist (Imnviiw Blx, tR dzr dR dzif sk a mr  t&tr mv hbw €When a pair comes
close to each other, they bow to each other with the wings hanging down.)

2. £en” Jiker ihY fnd at @B dzi .g (When my grandchild gets upset his arms will hang down.)

. lutitif " jor [ r] riatswilBvdzi .q (Don't be standing around with your hands hanging down.)

4. dzg | u gnodizo each other

example sentences:

0 - f tkitb mv hkwist [mnviliw Bx, tf Ss & s [Blk a mr tdig | u v @Nhen a pair comes
close to each other, they bow to each other with the wings hanging down.)

2. tkic swisasr t tc dsts . (When you meet your friend you nod to her.)
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3. siw tshacmistwts duo g r pgukisin k | tsdga . (If he asks if you understand what he
said, you can shake your head or nod your head)

5. ka1 jup kstf3s t- thirty days

example sentences:

1.iJtkek | h k wixgnjtt mat  kaylpjup kst3s t. ( The female sits on top of the eggs for about
30 days.)

2. wa i 1l ksiRstn £ [ htd - s 5 [i jx ? (I've waited for you for thirty days. Where have you
been?)
3. i 1 I ksts tn nags iyak mw(Ehere are thirty days in one month.)

6. ¢ mutmst/ mutm t- sit with / by someone

example sentences:

1. i[ prplasprs ckmut stsif ¥ f apr tw if scafap ts+if thiwrisljbt § dfay . (The
chicks usually stay with their parents through the summer, then go off on theirow in the fall.)

2.sisw hJ omwr t £t xkmutsg R (Their parentisill so all of them are sitting with him.)

2 - w K fmoutm h (I've lived with  them for many years)

7. cpRou st- be killed

example sentences:

1. £ ‘cpRoustif sningf,ixiftr phkwdpust ,lutt shifts| hwis- "He °~ gngm
usually killed by people, not another animal.)

2. " r ssikhy h [&p amRsts(Her husbhand is bad. He always beats her up.)

3.alal] bj hbnwsad ([ r spusteh $mu cx . (There's a stud that comes here and beats the
mare up.)

34
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05. stxRit - iti1 1w dzat
u s
bs ptd sxt call on the phone
sxaftit oldest child
wBw s again
I X sore legs
] glaw " or[ymix) awake/can't sleep (is awake)
w 8m if seem
saptsws phone someone
Ja s poor thing
Jatr txi [st able to sleep
j £ sa t vaccinate
j Ltyalq put something on head
Ji st towel
cutsti  / utna put
S¥ nia cloth
ajas feel awful
cssut whsj ts popsicles
skrklaka[ kprj #§ tsaf chicken pox
kprj § tsdf spots on the body
cf la ooze
t srsi af get a rash / have ski n problem
sm ma
S| m’ s jagassif s kfisr t & Jropsis,r h
tkaflmrw | r p Sfa.pkes ckstif s [a [JimafJtsif S| m™ s j

m” pr ¢ Hgstisa r o dig sxt

S wa.
K- wa tu ,ha if]j tsast?
S wax N[ k ast. lut astisfitxt sj 1§ fac.

K- srxkink ? ha v 8& dg 5 ix X ?

S lut, ifk gi dan&. ilif k & st s+ctofa . t ¢t
acat? vdmnj tsfa t5s w-

anwi, ki
K- ki,k Ja tss -

t Katali , ixi] sxatéts.

iIXx ks ao dzv r,k itxSapas t t

call on the phone;
oldest child

again; sore legs
awake
seems

b p K call someone
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~—+

~

S

lap.

0,1a S .ninwifsk cwtstl h | L.
hauniwts >u iwkst s mhivasRtRxipsy tafli.
if kK ast. ilifk cwtst hahu ?

hahu . j ©ftj st ] Br swis+ st

ninwifr £ ush. jwa

wa .

xaxal Katai ifbhswpuwlab S| m s ts5-

c [t L wnds

wax k ckicx.

wax | tckicx. li | s jckix, tu

lut sti . j & srxkinx ?

j §fi Rsa t tspifsiks t Ltisjcma ixif af

ct afsia sts. s¥ pts pts flap lutjtarfli sfitxs mat
t shsksa t | tr rmjhiagtKkyg[ sic [itx.

hatafli cfix ?

kina £t Kktfliscisckt sjt§ fac. i |ddyayq t Ha
1i st .

g ] Bl gth scfixs?

j h+ t kutséhwia s R néa mik r t  dtnvs.
JaxaxaJft Llap,na Lip hits | ° sakik ipif war w
I a f3s.

wtstw | h [itk tssfa xaxaf,i ca tx¥ ti . hawa sti
sfh & ?
sg[swh s jttskkklakal swhsj s+ rkitflsas [ Hm

k bj snmdcssut vgramde it sh - w s t
a sfitxrx.

hahu . | ®ftj st ] Br swis+ st

kts [pksecun i | t. k i tckxitm t £ ¢li s

ctxf sti is [imaft.

t¥ sp Katali cfacga[ t puxt s.

nikxna ! wa tsh @w
wax *t ¥ tsp hha astasfitx ?

t

poor thing
able to sleep

vaccinate

put on head
towel

put; cloth

feel bad again

popsicles
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K:

K-
S

astisfitx. na £ s “sapg is[itx.

| s glastss w-

ha if astSapat ?

srcfitx¢,x. na £ +Efum ts¥xkinx ?

sti ?

k tils staJw skRk[Rkay kpR & éa.

sti ? ha kpR & day i[ sqitks ?

iifcR Ja s mkr t&uf ufxas. ixi[ stsReax,kif
siw uc ksclaxafx, ixif kif wik if sksli afs.

s LbBwtbhkki[ nagsif ] £ sa t ixif skklakaf
kprj 1§ tsaf.

wax K tisixi[ wthisr x ix if skrklaka[ kprj Bsaf tr
] £ sa s X

Ja s

hahu - [t m+ tiswa k a sf ftscut

chicken pox
spots on body
00ze; rash

Ssovdzlh s rgtl

1.
2,
3.
4.
5,
6.
7.
8.
9.
10

11.

tshsmysh kfitsSI m sj & >

t shsmyripgrSh m sj s >

t shsmy stia [imaftsS | m sj s >
switi [ s ppsts sxt  tKatali ?

switifr j shiregftitsBl m™ s | &5 >

ki if sfitxsS I m sj 5 >

sfwj hmwlfattdsw T ?s k

alki jruw SI m>sj tsstb jrouyw ?
switi [ & puwlap Katai ifbhswtsr >
. s¥xkinx Sapat ?
w@nx ki [ [atrtxifst Sapat ?

01- {ixSapath rxkist tKatali *?

13.
14.

15

16.

17

18.
19.
20.
21.
22.

sti if sfh s Sapat ?
sti ifrbjtsBH M sj & >
.stxki t £ IRn” s j tsmikks kscun sli | tKatali ?
sh my cfpcga t puxt s Katai ?
.sfwj h mwsadi[H[ s[itxs Katali ?
sti if s its Sapat ?
alki kaf c ¥ lat Sapat ?
alki ki wik t if sksli afs SapattS | m> sj s >
sti ifnagsifj £ sa t Samt?
sctisS mnatktst afki kif s = witklaka[ kprj tsal Samt ?

acBts Frgl
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1. switi [ s ppstsi sxt stspifsiks > [ g ppbsskrsths wis  xit. |
2. switif sxaftit asrrqsik wts > [ rrj wshhs shxit. > | °

2 - gctpuBap ts | § @c? s¥xkinx? sfrwj hmw tt kts >
3 - g sa jtdtn tsr dki? sfxkinx? sfrwj hmw tt kts >
4 - g  =waigss rj ks [itst tsn¥qspi s | > wyafqjstwts r deh § sts ? &rxkinx ?

sxkinx t £ kts >

6. ha m s hwmri ‘st tspifsik s #xkinx? sfrwj hmw tt kts >

7.sti afcnutstwtsa ux Ja ast ? ma xit

7 - g afaf sskd[j?tsexkinx? sfrwj hmw tt kts >

9. switi [ tx¥ s hwt [sst sr o>hti[ tkrvntsis ?

10.hapsafswh s jngt ‘rgskiwt jsi§ fac? s¥xkinx? sfrwj hmw tt kts >
11.hani ao | g HeP s¢fxkinx? sfrwj hmw tt kts >

12.haa astaJcssut wh stjaks[it ? ma xit.

13.switaksfccun "li | s !'¥ rijf | ? ma Xxit.

14. ha sapif agfitxts j § f@c? s¥xkinx? sfwj hmw tt kts >

15. ha j & Jwsrklakal kprj 1§ sal > jsmwrsg h t £ [wissklakal kprj § Bsaf ?
ma Xxit.

16.hac ¢ la as mik ? sxkinx? sfwj hmw t & Kit s > I

17.ha a mi kaksa s¥ tscut lapnaf ? s¥xkinx? s¥wj hmw t t kit s > I

38
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g iils t |l
A. Verb Box

i Rsan /

Sag s
aksc = : Complete the verb box with the matching tense/aspect.

i R sa t-to vaccinate

i cB

anwé

al gl a mni

mni

mni

intransitive
past/present

intransitve
customary/
actual

intranstive
progressive

intransitive
imperfect

intransitive
future/
inceptive

intransitive
affirm.
commands

intransitive
neg.
commands

transitive
past/present

()

transitive
customary/act
ual

transitive
future

transitive
affirm.
commands

transitive neg.
commands

past-present
durative

future
durative

past perfect

future perfect
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B. Verbal Exchanges aksc ®&1: answer the questions with a complete

the question and your answer to English.

SF XCi

sentence Translate

0 - g san kw s r pgdafsrxtB (lut)
1- g rbjfieda nxtscrcmalal ? (ki )
2 - g f @mnapjth [c afit? (k iwa)

4, swita [ b jrksan stsif tsh? (anw i naft saqs)

4 - gy shpnrCakwts > "kt s(

5- g sa jtif sswts a ? (ki )

C. Past/Present 36 Box aksc ®1: Complete the box with correct transitive verb/object forms

i R sa t-to vaccinate

i cBB anwé algla |mni IR mni R p mni | 8x

i CB XXX XXX

anwe XXX XXX

al gl a

mni | m XXX XXX

mnl |R p XXX XXX

al gt a

mni | &x

D. Transitive Verbal Exchanges with Objects aksc &I :

s Xci sentence Translate the question and your answer to English.

1. g fjda tsifswisl gB (kiwa)

answer the questions with a complete
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2. switi [ ] [tj £ sas? (slat)

3. switi [ £ satyr s? ' dAas|)

3 - g ‘sa jstwiw? (i [ Iutif)

5. hacu ts sswj hmwer tséa t§ B (ki )

5 - gfj 4 Wt xi canat 1R ti af ? (lup)

E Future 36 Box aksc ®1: Complete the box with correct transitive verb/object forms

i R sa t-to vaccinate

i ci anwé algla mni | & mni R p mni | 8x

i cB XXX XXX

anweé XXX XXX

al gl a

mni I & XXX XXX

mni IR p XXX XXX

al gt a

mni | Bx

F. Transitive Verbal Exchanges with Objects aksc t1: answer the questions with a complete s Xci
sentence Translate the question and your answer to English.

1. g jrrspttsif knxcut sif sswts| g P (kiwa)

2. switi [ S[tj rg Bas? (xmi)

.switi [ rg Batr r >k ikkaf)

41
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3 - g f sajmr X 7 (lut)

5. hacu tstsfrwj hmw ¢ tsatf rtp i [ luti))

5 - tb ff @ h7 @jx

cdzs st | qa@ s

1. ar odg sxt- phone someone

example sentences:

1. nags t jrjskast ar odg sxt tKatali ,ixif sxafits. (One morning, she gotacall from her
oldest daughter, Katal .)

1- Ljjch b w r jotddlz sxt. ( When you get there, you phone me.)

3. h[ wijthmjrotdziz sxt. (What ever happens, phone me.)

2. sxa ét- first child / oldest child

example sentences:

1. nagst jristmstr b gtsxt tKatali ,ixi[ sxq éts. (One morning, she gotacall from her
oldest daughter, Katal .)

2. ggvét jLrrb il ¥ g WMy eldestis to be married.)

2 - ik mktgsghdt. (My oldest child is very helpful.)

3. v 8 dzagain

example sentences:

1. ha v & dg 5 ix x? (Were your legs aching again?)

2. tr wiss wisi] ¢ é€zR V tlzifist s. (He's so ungrateful he goes and bothers him again.)

3. ha v dzR kjd& mvtlsw gfirb . (Did he go chasing deer again?)

4, ix - sorelegs

singular.  ixn

example sentences:

0 - gw s wistsix x ? (Were your legs aching again?)
1- kjkmat ¢ £hrj ix . (Iwalked along ways and my legs are  sore.)
2 - gs ix s7? (Areyourlegs sore?)

5. i dpx- be awake

reduplication: j ts° [ x5~ [

example sentences:

1. lut, if k qi dan&. (No, I just couldn't get to sleep.)
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2.t s¥f k wtdz_1 Bxdza_ fibrak " [ - " K" rclildran vérggvade angle.)

3.k Jfhssw1s tt a)  joude .\(Isleptduringthe day now I'm wide awake.)

6. v dgn - seem

example sentences:

1. veminj sfa ssw- " Xtived.) r d d

2. v dzs ] t= piyisx. (Yousee tobe happy.)

3. h] v hhkdpsgp x f wis e (They have long faces, they see to be sad.)

7. ks ao dzv rt-kphone someone

example sentences:

1l.s ilxksaodgvr,ElitxSapas t t b p hldappEhat'swHy I'm calling. Sapat is sick and she
was awake all night.)

2. intdk ksa r ofiggsJ w- U Inh ksnao dzv r. kI'm going to go and visit.

When 1 find out I'll phone you.)

2- wirffhbFbjjkstaodevirh | ts& xitha witst o gl adks. ( When they get done
playing you phone me and let me know if they w  on or if they lost.)

8.1a s - poor thing

example sentences:

1. 0, 1a s . (Oh, you poor things.)

2.1 _s tr bf j tb(rhe poorthings. They're so skinny.)

2 - larx,1 _s is hdar[swrt tsp 5 XFWhen they had a death in their family
they were pitiful and they cried.)

9. 13tRxiy st- able to sleep

reduplication:

example sentences:

0 - wifskt t s mhivasgRtRxipsy tafli. (It sounds like you didn't get much sleep either.)

2. ci hftts 5] w- g _ r R?v(ghe opusic was so loud. Were you able to sleep?)

3. saoh [ jih réRagtvkt j £ [~ s rts(lvwas along time before | fell asleep and | slept in.)

10. i R sa t- vaccinate someone

reduplication:

example sentences:

0 - JiBsat tspifsiks t ttisjcma ixif af ct si afmsts. (Well, she had her shots the day
before yesterday, and | think that is what is bothering her.)

2. saoh [ gisltda st h f ¥ mts . (Long ago the doctor used to come and give us shots in
the arm.)
2 - mh gawhsh | SR q r x3 RThey give calves shots too.)

11. i | dByayq - put on the head
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reduplication:

exam ple sentences:

l.cict sjfg fac i dByayg tHa [i st. (Shewas hot in the night, so | put a wet cloth  on
her head.)
2. fraopms tk dzdBw_1rok Rt r wist x(They got hit on the head so they put ice packs

on their heads.)

3. Ie_w_tite Jim™ [ - "Ok " bd ° ohkknv tmcdq gdg gd  c-

12.4i st - towel / wiping cloth

reduplication:

example sentences:

l.ci ot sjg F b- tyafg tHa i st. (Shewas hot in the night, so | put a wet cloth  on
her head.)

2. ck " ms)1 hgst ks ts7ig[j ts (Bring the towels, I'm going to wash them .)

2 - gi" légt 2 (Do you have a towel?)

13. cutsti  / utatt/ utn3 - put

reduplication:

example sentences:

0 - j h+cutstd i[ddh v ni af mik r t i dtnis. (Yes, | also put it the wet cloth  on
her back, and she liked that.)

2.0l kiwi © [ jenutgté. (I put themin the barrel.)

3. a3l iya s [ chubst& dz,(You put themin my basket.)

14. s R néa- acloth

reduplication: s ni ° J

example sentences:

0 - jh+ tikifmMdaw®R megsr snik r t i dimis. (Yes, | also put it the wet cloth  on
her back, and she liked that.)

2. ail hg cné_1tt jLsj (lcutupthecloth, then |sew them together.)

2 - s ks kagvfs hé 1 (Your cloth is so nice.)

15. a s feel aweful

reduplication: ~ [afas

example sentences:

1. ix if way | aRs. (She has been fussing since then.)

1- 20 [tsE 1/ Rg R. (They got dirty and they felt awful.)

2- cX) 1 J orc tfs (When her diaper gets wet it feels awful.)

16. cssu t v g r popzicles

reduplication:

example sentences:

1.k bj snmiessut v gramde ithf tshs. (Well, | brought some popsicles, so maybe she'll try
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one of those.)

2. s st Bdr srr thefdaf af csu t v g r (Thdzpopsicles are a favorite for the children)

2 - k'gwij lshj sq hgsu sv g ra dai k? (W hat color popsicle do you want? Red, green or
yellow?)

17. skRk[Rkay kpR & &z - chicken pox

reduplication:

example sentences:

1. k  tisstajw slkRk[kay kpR & 8z. (I think she has chicken pox.)

1- qgihfRi [ 1 n®itRidakz t tsr b~ och £ spuct. (The chickenpox drips and gets crusted
like sores)

2 - ikh [fsjs sctfek [r srqgihfi [1 i n RijdSomeaikgve a hard time with the
chicken pox.)

18. kpR & day- spots on the body

reduplication:

example sentences:

1. sti ? ha kpR &k day i sqitks? (What? Does she have spots on her?)

1- worgsbwtsrbfj 2] wa j i nRiédzRivdz s$wap. (If youwalk in the poison
ivy you will get it chy.)

3. myak bswif [h[EK& 45 nRiédRi(\When ababy is dressedto warm it will get a
rash.)

19. R af - ooze/ splatter

reduplication:

example sentences:

LilifcR [ _ s mksttst [t [aws (

1- ralfd bwtshr g, tf# J[at. (Whenacowpoop sitgoes, splat, splat.

2- snitkfs st iw tck] hHMml " L- "Ghr vntmc fns hmedbsdc

20. t sRséa - getarash/have an allergic reaction on the skin

reduplication:

example sentences:

1. ixif st sRéax, kif siw ucksclaxafx, ixif kif wik if sksli afs. (She was fussing around, so |
asked her if she wanted to take a bath. That's  when | noticed the spots.)

2.is jjttqgRglsh Jayuf - "Lx ¢ tf gsfibm cHoablatetip) q r g

2 - shsf hg hkwt xtlsf_gq sr (S$dme are alergic to/get arash from everything.)
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06.odzdzl gl n

u s
ka[t kufxa three feet
aglitpt height
bik rough
plaplalp s gray branches
Jam sqga af feed animals
pr t¥ ts5° distributed
kmg# bilXts oiled skin / surface
cjt*sdt/ Ltsht get rid of something
sm ma
ifptsknhto ulafw tssyixulafw tka[ cpla.
kay llsag xR if ksi tsp sk ‘cpla,if 8t Jup kstsufxa i |three feet

ksadgedd &z i [ p tp ts knh f dk xrhikst s if ik ut
plap[odz o bj laubLgs . i/ packksck k pi af.
ifpPsinhifw bj L ackatd ni ap rckhixtp.
jafay kalcafats ifpt tsknht o t§gjhdafa sif
p o tsknh L datta[kix akswik i p t tsknh tabfki] sqilxts
cam sgB a ylat tafki , ixif ut pRdR da ylat tafki .
if safcin ,snitaf naft smlatlut astg x tr ksfiktsr x
if pt® sknh t § packt hik ckmRilxdzuk lutixif ast
r pdai ks. ixif t tmixts istg x if ptp sknh Lt o | [l taw
clalitkttr x. kmaxi [ sta[i nia p
if sqilxsc tst st x if p P tsknh L oiflilkts

ksrbst® s ub gt¥qyfipals. astt mri st sqilxts if
pttsknht ductuj ta tiixif] ast sahal k sHa t.
ixif nixtsif packks astc tst st ktu ta cpu stk ta cpust

i citxtert. i [ spufusif p th sknh ic b dzgts if astut ktu
c t¥c t¥ctwi x itlif.

Tt ostsifpt sknh ko

S

height; rough
gray branches

feed animals;
distributed
oiled skin

get rid of

ssgvdzh s Frgl

1. alki ka[cplaifp® skmhto >

2. ki Jksisptsr Lt ifpwkimhto >
3. ki iftkxmikst sifptw sknhto >

4, ki ifo’ bjltprtp hkmht o >
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p ki kafcafats ifpwtsiknhto >

aknk ws dfa sr[ phtp sknht o >

sfwj h mwlatttatfki xakswik [ pt® sknht o >

sfrwj hmw & th tkrfgsrp thknh £ afbin ,sni £ af naft mlat?
sti ifshl wWshErfopm thimht o >

10. sti ifr phkwtssthif ptp sknh tfoiflilbwtsr >

11. sti ifrphkwtsthifptpsimhifo bj Ltr >

01- [jekist if spyfusifptp sinhto >

© © N o U

acBts Frgl

1. haa a s “{§ ifwt ulaJw tssyixulafw s >afki ? sfxkinx? sfwj hmw tt& kts >
2. ki ifsatitp st [i asrFgqsik wis [sqqsh hwt xit. | °

3. ha kikasr s astr ut ? s¥xkinx? s¥frwj hmw tt kts >

4, ha ikastsus? s¥xkinx? sfrwj hmw tt kts >

4 - g Jamjstg af ? tsti  ? ma xit.

6. hay lattafki kif pr & 5 asrrgsk wts > xit. | ~

7. sti  as ussfhtifsafcin ,ifsntalk ifsmlat? s¢xkinx? s¥rwj h mwut?t Lt

8. ha "tk wmm s wWsmhatsqfi ? ma xit.

8 - g  fjhtk vbg lja as if ? ma xit. s¥xkinx?

0/ - g riss Ppuchisch j sadhdfk pts Ha t? sexkink? sfrwj hmw t+ kts >
1ll.hac st r swp ghtsknhto | sstk”™ tbobeotwtis wWts fxkinx*sfwj hmw tt kts >
ma Xit.

12.sti ax t © tnrgspi tk? ma xit.
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giils t il gag s

A. Verb Box aksc ®&1: Complete the verb box with the matching

tense/aspect.

I dzg / | dzgt- to getrid of
i ci anweé al gl a | mni

mni R p mni | 8x

intransitive
past/present

intransitive
customary/actual

intransitive
progressive

instransitive
imperfect

intransitive
future/inceptive

intransitive affirm. f— —
commands

intransitive neg. --- -
commands

transitive
past/present

transitive
customary/actual

transitive future

transitive affirm. - —
commands

transitive neg. - —
commands

present durative /
present perfect

future durative

past perfect

future perfect

B. Verbal Exchanges aksc &1: answer the questions with a complete

the question and your answer to English.

1. hak ttsh tafcm mla t? (ki )

Sf Xci sentence Translate

1- g fc fjthta t tmawts >iwa) ' |

2 - g tgafxtast ti ? (lup)
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4, swita [cL BHisi[s M ? (sggs | hwis(

5. haPitks L shifsa gsts/h trt? (ut/sma [i )

6. ha Lsshpifpam ? (ki )

C. Past/Present 36 Box aksc &1: Complete the box with correct transitive verb/object forms

I dzg / | dzgt- to getrid of

i ci anwé algla |mni & mni IR mni | Bx

i cid XXX XXX

anweé XXX XXX

al gl a

mni | m XXX XXX

mnl |R p XXX XXX

al gt a

mni | Bx

D. Transitive Verbal Exchanges with Objects aksc 1: answer the questions with a complete

& Xci  sentence Translate the question and your answer to English.

1. haas m kawa[ +t tshts? (lut)

2. sfwj hmw f Eshstnts > m'kawaf) r

3. sswj hmwe tbm ? ( p &= gn)

4. ha ttshswis? (ki )
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5. hacmistiwts sti t Lt sl sx? (lut)

5- gl kst sht ? (kiwa)

E Future 36 Box aksc ti: Complete the box with correct transitive verb/object forms

I dzg / | dzgt- to getrid of

i ci3 anwé algla |mni & mni IR p mni | Bx

i cid XXX XXX

anwe XXX XXX

al gl a

mn| | m XXX XXX

mni |R p XXX XXX

al gt a

mni | 8x

F. Transitive Verbal Exchanges with Objects aksc t1: answer the questions with a complete s Xci
sentence Translate the question and your answer to English.

1. haas m kawaf kst shts? (ki )

2.sfwj hmw t Lt Eijststi ca? (sics m kawa[)

3.sfwj hmw thd o ?1lfjpria gn)

4. haaks £ shfx? (lut)

5. hacmistip sti tt JHkst shtmfxi canalt Rit?r(lut)

5- gl akgttth i ca nalk sags ? (lut)

5C

risoixciri 3, Unit 3, Kargym revised August 26, 2017



cdzs st I qa@ s

1. kal jupxB - three feet

example sentences:

1. kalls xR if ksi tsp st “cpla,if ©t Jup kstsufxa if ksa i sp . (It usually grows
to about three feet tall, butit ~ can grow as tall as ten feet.)

2.k 6 ®r s timtiph jrrmibcut t kal jupxB . (I practiced and finally was able to jump three
feet.)

3. f adafp = sqtmiwts | * kalt kufxa if si tsp 51 (He was a short man maybe a bitty three
feet tall .)

2. a dgi dzj -ohagghts

singular i tsp t5

example sentences:

1. kaft kufxa if ksi tsp tsr cpla,if tsh  Jup ksts ufxa if ksa dgédo dz (It usually grows
to about three feet tall, butit  can grow as tall as ten feet.)

1- stis] wr mavdg dp der p h k(Whis blackfoot people are tall people .)

3. ideo dz r pfts-(Your son is tall.)

3. ik- rough

reduplication: ¢ jik

example sentences:

1.i[ pt sknh fdkxhikst s if ik uk plaplap ts( Sagebrush has rough, gray branches and gray or
gray-green leaves.)

2. Riikk H> si ¢. (The blankets are rough and prickly .)

3. imlist h § susts h [ik. (My dads face is p rickly.)

4. pfap{Ro dzgray branches / gray poles

singular. o &p ts

example sentences:

1.i[pte shknh fdkxhikst s if ikuk pfap[Ro dz Sagebrush has rough, gray branches and gray or
gray-green leaves.)

2. a [ww hyusx n¥ B [z (The logs are old they are all gray .)

3. hInf _ _nrfifgt R [aws (Hislegsareqgrey.)

5.1amnsgl3 aym- feed animals

reduplication: [ ~ J ~ Isgawts ™ [ |

example sentences:

1. ylattafki akswik if pth sknh tab[R[r p h §antssql & ylat tafki ,ixi[t L¥ & 5 ylat
tafki . (Sagebrush is more comm on nowadays, because people let their cows eat everywhere, so it
spread all over.)

2. ha wa j t§ _ ksgBv dz_1? (Did you feed the animals?)

3. wa | _\ _té x1 s hJ (Yssll fadvaksthe animals)
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6. pR dR dz_ - distributed / spread

singular p ts5° |

example sentences:

1. ylattafki akswik i p o 5 knh tab[hi[ sqilxs cfam sga af ylat tafki ,ixif uk pRdR da ylat
tafki . (Sagebrush is more comm on nowadays, because people let their cows eat everywhere, so it
spread all over.)

1- Jafbdwifp [ap] nRdRdz . (The horses got out and scattered .)

3. i h [ r p hpkdekscutl KThe people are going to scatter pretty soon )

7. ckmR g j - witz/ oily covering

example sentences:

1. i packk ik ckmRilxdzuk lutixif ast r pdai ks. (The leaves have oil inthem that is not good
for their stomaches.)

2. akf® viedq o¢ow thi HHewiled his horse and it was slick .)

3. km Bw_ 1 ofsk xists st hx§[ h [ agh ke put bear greas e in his hair and it was slick. )

8.cl dggt/c | dzgt- get rid of something

reduplication:

example sentences:

Lifspufusifptpshknhicd degtsif] "~ r s t £ tptsct ixitlif. (The smoke from the
sagebrush helps keep us strong and pushes away bad things.)

2. iJogws st cli dgstsif{s¥ [t li s. (The workers take the debri s from under the
bridge.)

2 - x1 8 cChkjxdh | L litwesas £ 0t t H Fdzgt. (Take everything out from under
your bed .)
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07. q vaug

u s
spuct a sore
sm ma

if r wisf ylattafki ka[ cpla syixt wslawtsi |

rwisf j t{fmulafwts ¢épla-
wrswisx b L Tt iJr wis[ cafats sgipc. is aftif

safatsr {4 § sgtaf/li sar . akg(it mif r wis[ i
xifmix p ki .
rd tts. ixifal] hbtrmri st mhwi- hlwbhbk t & wiff |

pfrhwrisf t £ Ipijaft

htrif a qgqsiftxkmikstr + wes shs[ h

t i t sgfasptskt oaf astt wmri st spuct. a sore
ssgvdzh skragl
1. afki kaf cpla if r wng[ ?
2. ki if splasifr wrg] ?
3.p ki kafcafats ifr wig[ ?
4. ki if safatsrf rhwrs/ ?
5. xkin | h jhttif r wrgf ?
6. ki aks®mn i mri st t r wrg[ ?
7. sti asttmri st if r wrg[ ?
aclts Frgl
1. haylattafki kif j 5 b wstshykhxdt wslajwts >xkinxr? sfrwj hmw tt kts >
2. haa astaksuwtss t wisk a mis ar s | gfmidaws > xitl °
2 - rgf “sb tikk m muras magstx > g [ jptsaub? s¢xkinx ? ma xit.
4, stit amis asts alats t "ajals sgipc ? ma Xxit.
5. aknk wtsmis asts afats > xit. °
6. ha htr gwwmmhk i shi[s ulafjw s [ ¢pla ? s¥xkinx? s¥wj hmw tt kt's
7. hac tstr s wtnrihst ctst s ringafk fas p st orxkinx? sfrwj hmw t £ kts
7 - g | Hpnpfr?oskxkimx ? sfwj hmw t t kit s > | -
53

risoixcid 3, Unit 3, Kargym

revised August 26, 2017

>

>



giils t il gag s

A. Verb Box aksc ®&1: Complete the verb box with the matching

tense/aspect.

ktpéhay / ktpéa t- to cover
i ci anweé al gl a | mni

mni

R p mni | 8x

intransitive
past/present

intransitive
customary/actual

intransitive
progressive

instransitive
imperfect

intransitive
future/inceptive

intransitive affirm. - —
commands

intransitive neg. - -
commands

transitive
past/present

transitive
customary/actual

transitive future

transitive afirm. - —
commands

transitive neg. - ——
commands

present durative /
present perfect

future durative

past perfect

future perfect

B. Verbal Exchanges aksc ®&1: answer the questions with a complete

the question and your answer to English.

0 - gl ktpjnagt tsli ? (ki )

SF XCi

sentence Translate

2. hasrcktpina[xf xt tsifsr x? (k iwa)

3. hak ksktpinafa[xta 0 x ? (lut)
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4. s switaf cktpinafstsif tgal tinaftrt? (sma [i )

5. haaksktpinal ifsts’tp > ) 'jh

6. haktp ingf{ s wif cyr Rilaflwts > "kt s(

C. Past/Present 36 Verb Box aksc &1: Complete the box with correct transitive verb/object forms

ktpéhay / ktpéa t- to cover

i ci anwé algla |mni & mni IR mni | Bx
i CB XXX XXX
anwé XXX XXX
al gl a
mni | m XXX XXX
mni |R p XXX XXX
al gt a
mni I 8x
D. Transitive Verbal Exchanges with Objects aksc t1: answer the questions with a complete
& Xci  sentence Translate the question and your answer to English.
1. switif ktpina[ ts ? (Pacis)
2. switi [ ktpinaftr s? ( sags)
3. hacmistipsfrwj h mw inaftrmj 8 ¢ r L bt)
4. haS latq ksktpina[sr x ? (ki )

5E

risoixciri 3, Unit 3, Kargym revised August 26, 2017




4 - gl ktpjndgts wts > "kt s(

6. ha swit ksktp ina[ ts ? (k iwa)

E Future 36 Verb Box aksc ®&1: Complete the box with correct transitive verb/object forms
ktpéhay / ktpéa t- to cover

i ci anweé al gla [mn IR mni R p mni | &x

i CB XXX XXX

anwe XXX XXX

al gl a

mni | m XXX XXX

mni |R p XXX XXX

al gt a

mni I 8x

F. Transitive Verbal Exchanges with Objects aksc t1: answer the questions with a complete s xci
sentence Translate the question and your a nswer to English.

1. s switif ksktpinaf tsr x ? (Piyar is nafp Taras)

2. switi [ ksktpinafty s x? ( astafs | 5[ 3tis)

3. hacmistipsfrwj h mw tidaftrimr P 6 0 L bt)

4. ha S latq ksktpina[sr x ? (ki )

5. uci caj wftaksktpinaf ? (kiwa)

6. uc piksktp ina[ ? (lut)

5€
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cdzs st I qa@ s

1. spuct- a sore

reduplication: sprcpuct

example sentences:

1. axaJ astt mri st spuct. (This is good medicine for sores.)

2. ylattafki

sqitks pRepuct. (She has sores all over her body.)

2 - katgh ris'wts  Cifrifp sw tp tisorr stcpguct. (If you don't change your kid's diapers it

get a sore butt.)

will
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08. stRkktR av dzg I n

u s
ylacnis | ts shore
S | | skt red branches
ckmuskst four petals
st us trap
syinwa/x snowshoes
lacmi bindings
bwtr s¢ cleans you
sm ma
i strktrj b wtsdpla gfacn& | dgax c ixa[t Lt shore
c otagt wts mh wb hmulajw ts - ifooshb j[Lr h

strktrj b witsh & o ielegt i tk kxmikst s. gipc t Lafats
if strktrj b wis hrgpay+f s@afa sr  dkruskstif s afa tsr [
strktrj b wishpragpigo[ s p B knrpr t r Jad if
] Ex tisx s.

ifs p kif sttktrj b wsdkditomt £ miBwriss wts
Tjhilg. ¢ stigxifJo bjibr whrbkita/[l at
tsts L p syixif sttktrj b wtsh Hsd -st ifos ¥ i
] sh. mhwtst bst st us , syilvalx tt mhwt
Jacmé. i [ strktrj b witsh tiflk whsrr $ap & wis L) dsahaf.
ifjr phkwtss baota bwtcut. astc phsj tgfr swts
strktfrj b wishatckaxt a v dzq rss ixif mh wtpusb if
s p tbp[ astmri st spuct.

red branches
four pedals

trap; snowshoes
bindings

clears you

ssevdzh slkragl

alki kaf cpla if strktrj b wsht o >

ki ifo  bjftskktrhbwshto >

ki if tk kxmikst sif strktfj b wsht o >

.p ki kafcalats if sttktffjf bwtshto >

k ki ifsafatsr  stktrj bwtshto >

aknk wgs Ip ~ L g strkthf bwtsht o >

s h nfwx tisx sif knfqsuststrktrj bwtsht o >
stit a[ kist i[s p  tgsttkthh bwshto >
sti. al kist ifo bjftskktrhbwtshto >
10. sti afctst st ifs¥ ifsifsttktrj bwtshto >

© 0N kDR
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11. sti bYapst if iflik wrsttklkj b wshto >
12. xkin | h btwtssgif strktfj bwtsht o >
13. sti | astafc pusts p L stkthh bwshto >

acBts Frgl
1. haa cis wBacmis | tfrc chixaJ k i saftis] t5 fxkinxs+fwj hmw tt kts >
2. haas ilift c otagt [xsk h hmulajlwts > xitl

3. sti  as uss p L pxiisk ? ma xit

3 - g | s 7?bsti’ omasvisr svstfi hi[r jrishnix ? s¥xkinx? s¥+wj h mw trha xit.t s >
5. hacmistiwts ‘tHirwtifr j $§h? sxkinx? stfrwj hmw tt kts >

5 - g uj st r hbsyislafxs > g jwafxj? ma git.

7.sti ifBapswt | tahdf > b gl ob b[widsthktrj b wtsh trxkine? sfwj hmw t+ kts >
8.sti afc phsj saslaxs ? haif[ sttktrj bwtshhphhbsp srmawi. >

giils t il gag s
A. Verb Box aksc tu: Complete the verb box with the matching tense/aspect.

v delz_ / v dez_t- to clean

i cB anwé algla |mn IR mni IR p mni | Bx

intransitive
past/present

intransitive
customary/actual

intransitive
progressive

instransitive
imperfect

intransitive
future/inceptive

intransitive affirm. - — —
commands

intransitive neg. - - —
commands

transitive
past/present

transitive
customary/actual

transitive future

transitive affirm. - — —
commands

transitive neg. - ——
commands

present durative /
present perfect

future durative

past perfect

future perfect
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B. Verbal Exchanges aksc ®1: answer the questions with a complete

the question and your answer to English.

1. switi [wtSstisaxa[ ? (sma [i )

SF XCi

sentence Translate

2. hapstbwtsl hw & preski )

2 - g srepmptsso s fjrhst oiwad "
3 - g 5 stawt x ? (lut)

4 - g = ©&h jixi[ @ dut)

5 - g jwslixafftr wdi k? (lut)

C. Past/Present 36 Verb Box aksc t1: Complete the box with correct transitive verb/object forms

v dez_ / v dga t- to clean

i cB anwé algla |mni IR mni IR mni | 8x

i CB XXX XXX

anwe XXX XXX

al gl a

mni | m XXX XXX

mnl |R p XXX XXX

al gt a

mni | &x
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D. Transitive Verbal Exchanges with Objects
s XCi sentence Translate the question and your answer to English.

1. haif strktrj b wts hwise b tsk? (ki

)

aksc

. answer the questions with a complete

1- r v[hvsss fistsxtt sum ixs ? ( sags nafk

Wts)s °

r

3. hacmist iwtsfwj h mww tsttsis ixif ? (ki /

wctwbshsj s5(

4. ha cmistipsfrwj h mw twtsivt? (k iwa)

5. hai caj mftwsstiptsp Ju ? (ki

)

6. ha Prasas

j{ ttsts ti

? (kiws)

E Future 36 Verb Box aksc t0: Complete the box with correct transitive verb/object forms

v dez_ / v dez_t- to clean

i cB anwé algla |mni IR mni IR mni | Bx

i cid XXX XXX

anweé XXX XXX

al gl a

mni | m XXX XXX

mnl |R p XXX XXX

al gt a

mni | 8x
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F. Transitive Verbal Exchanges with Objects aksc t1: answer the questions with a complete s Xci
sentence Translate the question and your answer to English.

1. haif mri st ks wtss tsis? (ki )

1- rvij g widistsumiwr > inaJgRwts

3. hacmistipsfxkinx t £ wiEst tskixif ? (ki / smri st)

4. hacmist iwtsfwj h mw t &tsitj? r(lw)s

4 - gf " jjrowas i catspful? (ki )

6.uca mij |t B r?wlst)

cdzs st I a0 s

1. y[acné i- dhore

example sentences:

1. i[ strktrj b wtsdpla gfacnd i dgar cr ixa[t £ bafojwds t £ mhmiaws- ' Qd
grows along the shore of creeks and ponds and in other places where the ground is moist.)

2. hawik s wifs &fcin y[acng i ?z(Did you see the deer on the shore?)

3.sitxifsaltisj s jjslea tkif L] b bif y[acn& i. @ he river was flooded and we had a
hard time to get to shore)

2. r iidekst- red branches / red hands

reduplication:

example sentences:

0 - Ao h bjfistrktrh b wis h r o iHezzgt i txr kmikst s. (The red willow has gre en leaves and

its branches are red.)

2.smi r hyjaw" [ rb hhsfavtsytisth kikiks h f iidegstt mi m . (He painted his dogs
house red and his hands are all red.)

3. "rsshikwtsr[ hhj[ of oihdeksgt ¢The colts got nice markings, it's white with red legs.)

3. kmuskst four p edals / four hands

reduplication:

exam ple sentences:
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1. qpc t tafats if strktrj b wis hrgpig+{ s@afa tsr  dkruskstif s afa ts - '"Sgd gdc
flowers in the spring. Its flowers are white and each flower has four pedals.)

2. b [ jastk & rkmusmskst (It would be good if | had four hands.)

3.ilif ovadl t t kmusmskst (Betwe en the two of you, you have four hands.)

4. st us - fishtrap

reduplication:

example sentences:

0 - mitwvst b st us , syiiwalx + t £ nacmits (We also use it to make fish traps,
snow shoes, and to tie things together.)

5. syidva1x - snowshoes

reduplication:

example sentences:

0 - mstvist b st us , syilvagx + b wtdacmi . (We also use it to make fish traps,
snow shoes, and to tie things together.)

1- cbhbb resmitd | Bf riswr¥ By 1 v(When the snow is deep that's when they use
the snowshoes.)

2 - wap [px cwupwupxa t £ htsyis 1 Jdutc 1 Is smitss - '"Sgd kxmw g°
acts like snow shoes and doesn't sink in the snow.)

6. [acmé - bindings / tying material

reduplication: 1 "1b B |

example sentences:

0 - mstvist b st us , syiiwaf[x + t £ nfacméds. (We also use it to make fish traps,

snow shoes, and to tie things together.)

1- ghj gmshf a [é kskaca istESk s - '"Chc xnt agh men tie mygbundleh mg
down.)

2- t il | h plas tai [ _ &k ( From the hemp you spi n yourself a rope for your bindings.)

7.v ddzl $/ v ddzq r ss manage to clean/ manage to clean you

reduplication:

example sentences:

1. astc phsj mrsskirisb tvts hahckaxt a v dzq r ss (Itis also good to soak willow  in your
bath water; it purifies you.)

2. lwa avdzv deqr @tryto cleanit!)

3. ha v dezRizI s v ?z(Did you manageto clean it?)
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9. stxRit - I iRdzfast
u s
Jap kspi tk ten years
S mit school
j £] 8h sit on something (more than one)
ksek * on the table
mip t miss something (too late)
ca[ ti [/ cala hit
p @&naft little pitiful one
spktsh touch something of someone
wtst r b hurry eating
sm ma
P Lwtasfas if s kfits, Mali naft 1Ata. Mali
1ap kspétk t BAta sis spi tk. P1° £ wts ribrpshriilxstb i ts | ten years
S klits Ljffistmst ¢ r shruyaxwts mit ,ixif school
siccnik It a s [ ti bifxfxi x t ci i dgdafuj 51 |sit on something
xafci sifbhswitr -
P- Mali+ p lwa s wllapus | t3 wikafx. JAta,ha wa | 5
bphtptapur> jrtsvitzalx.
Ja xaxa/...
P- Mali ! 1Ata ! hahu - liwt®v h crh Eutwi !
M-  wa tsh nfwr lyak mwets
P- wa sis t bt Bsds.
M-  swj hmw kp lsw st jristast ?
P- wa tsh,na t ktks-gtga ¢ iyt mwts | K
anwi ] ® phts- cmviutxr skea asfit . on the table
A- lutk aj Ba thjdsux .
P- ilif prgpigst¥t ti mi - jaafa t ] &isuyfx
ilif.
M- afki istxmi ? lut akic istxmi !
P- lafki kif frc st r swts?

risoixciri 3, Unit 3, Kargym revised August 26, 2017
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M- claxt ,na t ki kapnaf[k

P- alafat wistr swmipr vifz [afu ts|.

A- wla.:-- |

P- srxkinx, JAta ? s¥xkinxki/ ] £ pts pts >

A- Mali j t5ftcay t&s ! wla--- !

P- bwtx laf ] s kwiss . o, [a s . o @aat-
cu t xkin

J

A- k srctrwl hw tih mltj B®h brscmi hk s 6t tis

t strxmi .

P- Mali b xv tiaf !

M- j gftnatsl Esexmiht s cu kts [jstolrg
istFxmi !

P- Mali, lut ~ r saksta =~ tr@uo r - o witsés  tiw s -
Mali kwtstsrif Ldcft or sr tt btr----

M- kts mhkawds .| s

P- 1Ata, hacmistiwts k't &1 L jsif sti r ikkaf
putsiw swts | hstr Blwts >

A- wa , cmisti .

P- lut " r s kshust sMali. na £t kit ssj tj tssh

br kstst L ssasti  ift b mh thdha , Japnd[ ] BWwi mi

j s L. vdescwic miptpif [aJu SI.

M- wa k wecei. wa k jr uwgx tim if J[aly)
P- i hrw | h [acqafb | ts
M- oKki, i iks iptmn . b wtd lJAta+ | st
a s i is .
A- hahu .
Ja xaxa/...

A- wa ,mist . Lvhy ¥ yatsp.
M-  wa , mist ,taflij 8 mik

.

P- mhwt noi Kif pis k{it. astif] £ bt p lapnaf

s lat.

miss

hit
little pitiful one

touch

hurry eating

sspvdaf s I rgl
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tshsmy sh kfitsPl” £ wts

switi [r ] 1 fxifis srkfitsPl” Ltwts >
ts mw rtka hs klitsP}' Lt wts >

switi [ b prink s r tlilksts Malimaft 1Ata ?
Ljrisiast, alki j r wiga[x Mali na[t 1Ata ?

shmw bj fafujstel Mali nafk 1Ata ?
alki kaJ bj £ tsfafuj ts| Mali naft 1Ata ?
shmw phit?pts L™Kk

sfxki P" Lwts kit si ipthjkjsast? k

[ - | h bmhrkkistsMabiRt s+ | r

11. afki kif af afla s joidulx slAta ?

12.sti  af c afstis Mali ?

13.s¥xkinxka[ c p 5~ pAta ?

14.switi [ kwstsrlAta ?

15.sti if cunt 1Ata tMali ?

16.switi J/ kwsttr tMali ?

17.s¢xkinx P1° L wish mj r | rxMalt naft 1Ata ?

07 + witci Mali, afki j r aytgx ?

19.sti i ks £ h ssMali ?

20.p ki miPY L wt #xvlhsj rmkfits ?

© © ® N O M~®DNPRE

acBtslrgl

1. switi { b prihk s wiskh lbwissrigiast ? ma  xit.

2.switi [ ¢ rshwtr g6 ? switk[ c stu s?ma xit.

3. haa astaksa st k misa mi k aksmut acis wis fxkinx* sfwj h mw

4, hap j tj sHafuj ts] naft rasikmwlapnaft iyat mwts fxkinx 2rsfwj h mw

5. tsh rkivj 5 cm cut lapnaf ts lat?

6. sti if mhswts Sikrso xkinx? ma xit.

7. hac tststa f iyak mwts | h jugrjblspsh?bssxkinx? sfrwj hmw tt kts
8. ha la a sisulx lapnafts lat? a j L h agabts s? s¥xkinx? s¥wj h mw

8 - g jn ? taknk wts "mi ? ma Xxit.

0/ - g | t? jaknkwlish “ir a3 mwd xit.

11.ha mip s wif [&fuj I tnfgspi tk? s¥xkinx? s¥fwj hmw tt kts >
12.swit if caf tiwts sfsik e h > [ gajvthiss? nm xit.

13.switi / kwtstsrwts s §[r?jswiti { kwistts? ma Xxit

03- g anpft® switd [ p &naft asrrqgqsik wis > xit. | °

15.hasf s hwt rjvih gac 3 haswit s tsis? ma xit.

05- g rvhsti stpifsitr > rg" sptdtvicsA masxitr vhs

17.hac 1 L s wtsti Bif sk t £ ksvets rihhstr Blwvts #xkinx* s¥fwj h mw

07- g Ugctsj b wHs't? s¥xkinx? sfwj hmw tt kts >
19.switi [ Him swis fSikrsoh> [ vy hts? h
1/ - g ] sslapnafts lat? s¥xkinx? sfrwj hmw tt kts >
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A. Verb Box aksc ®1: Complete the verb box with the matching tense/aspect.

call / cal t-to hit

i ci anweé al gl a | mni

|

mni

R p mni | 8x

intransitive
past/present

intransitive
customary/actual

intransitve
progressive

intransitive
imperfect

intransitive
future/inceptive

intransitive affirm. - —
commands

intransitive neg. - —
commands

transitive
past/present

transitive
customary/actual

transitive future

transitive affirm. - —
commands

transitive neg. - ——
commands

present durative /
present perfect

future durative

past perfect

future perfect

B. Verbal Exchanges aksc &1: answer the questions with a complete

the question and your answer to English.

SF XCi

sentence Translate

0 - gcajaj & istcal ? (lut)
1- g fega[mixtxmi trt? (ki )
2 - g stisji & ccafsti ixi[ ? (kiwa)
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4. haca [ tiwts a tr?k(lut)

5.uca mij j & [hj7? @)

6. hapsca [mixafxtsl lat p? (ki )

C. Past/Present 36 Verb Box aksc t91:

call / cal t-to hit

Complete the box with correct transitive verb/object forms

i c anwé algla mni | & mni R p mni | 8x

i cB XXX XXX

anweé XXX XXX

al gl a

mni I & XXX XXX

mni R p XXX XXX

al gt a

mni | Bx

D. Transitive Verbal Exchanges with Objects aksc 1: answer the questions with a complete
& Xci  sentence Translate the question and your answer to English.

1. switifcaftul r > p'ER §s)

2.s svhs [jeagti > " Wieafts hij i) ~ q

3. hacmistipsfwj h mw [t tbt ? HKi

)

4. hacmist iss x sfrwj h mw [ tire x D (lut)

4 - glcafjtipit caatfhp r £ bt? (k iwa)

risoixcid 3, Unit 3, Kargym
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6. ha t tswiya[ naft caps r s r [ pagtimr x? (lut)

E Future 36 Verb Box aksc =u: Complete the box with correct transitive verb/object forms

call / cal t-to hit

i ci anwe al gl a mni | & mni IR mni | Bx
i ci XXX XXX
anwe XXX XXX
al gl a
mni | & XXX XXX
mni IR p XXX XXX
al gt a
mni | 8x
F. Transitive Verbal Exchanges with Objects aksc t1: answer the questions with a complete s Xci

sentence Translate the question and your answer to English.

1. switif kscg[ tsis? (T stqi )

1- r v[tkscy[ fistPt (Piyaris)

3. hacmistiwtsrwj h mw { tsit? (luth °

4. hacmistipsfrwj hmw t tf&a o? (kij) b~

4 - g akgcegmt i canaft Mwathh tsr £ bt? (lut)

6. haSapas |j[tkdca[ ti i canaft Qdsk (lut)
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cdzs st I qa@ s

1. 1ap kspétk- ten years

exam ple sentences:

1. Mali1ap kspétk t H1Ata sis spi tk. (Mal i is ten years old and 1Ata is seven.)

2. 1ap kspétk lut a htr stx.-( Ten days he didn't eat. He's sick.)

3. way1ap kspétk ] strbj st itv v (lt's been ten years since we started to borrow from each
other.)

2.s mit - school

example sentences:

1. crshruyafxwts mit,ixifr hb bamstaib. (He gets them ready for school, then
he goes to work.)

1- AT gmxiw™ [[ws mit . (They're going to gather at the school today.)

3. i I i-ddgon something (more than one)

example sentences:

1. ti Lifx¥xi x t ci Fi dedaftj 51 xafcl sifbhswtr - ''Sgd f iné§dotrof
their house at eight.)

2. ha tgcxapts j twts | hi.dailyougoby train or by plane?)

2 - bw tlst | ddasita brj sbr j S hbbrxj (@ome letfs ride the sleigh draw n by a
of horses.)

4. cksg- on the table

reduplication: ckssd

example sentences:

1. cksg asfh L (Your foodis on the table.)

2. ckssa h [ ] Eijitkmid £ kt sif rhyfd s tvis- 'Sgd s akdr "~ gd rds
empty.)

3. ksldt-h § tit[ms i micl ~ o hblf 4 sr@@ehthe table, our g uests will be arriving soon )

5. mip t- miss/be lat for something

reduplication: ip t

example sentences:

0 - wtst rmipwr Voidz (afuj ts1. (Hurry or you'll miss the bus.)

2. ity Hptsrpsht £ ipsx1 s rvhs- "Adb trd gd v 'r rn

3. ha as & ?(Wereyou too late?)

6. ca té / cald t- hit someone

reduplication: b~ [&s [. bbaf [

example sentences:

1. Malij stq t&s! (Mali hit me!)

2. ixi[ts sirsratthtésh §sh s. (Because he was so mean he hit all of his buddies.)

2- tdsmfis a_1#a)1t . (Hisfriend boxed his ears.)

7C
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7. 0 dz_I- little pitiful one

reduplication: p tsf pt@®m" [ s

example sentences:

1. 0, Ja s o dz L. (Oh, poor thing.)

1- s ‘otdzR ojdl [ 1 (He's such a poor pitiful little thing.)

.ixifodpdgttr phkwt- "Sgnrydooo)dnokd " qd udgq

8. r o I -rtauch something of someone

reduplication: s fspp £ s h

example sentences:

1. cu kt s ijgstoistxmp ¢ (I told her not to touch my brush!)

1- trhyfwsl qRolrrigst [aws,hamat ts tsh . (The doctor feels his legs to see if his legs
were broken.)

3. alafl | hJ g tstg.v(Tauch me here.)

9. v dzs ¢ eat fast

reduplication: wtnwtst r b

example sentences:

1. v dscnwic mipntp i [ Jafuj 1. (Eatfast, or you will miss the bus.)

1- | ttfoy sth ta v dzdzs &a ( When pigs eat they gulp their food down.)

3. lutmiy & i qRavdzsjgm pbr ~ [ - "Cnmé&s d°s snn e rs ngq

71
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10. B sa wJRya

u s

¥ u little brown
sisw [ size
s hrin resting place
ksla sfs sundown

la upst semen

Jastki t maternity roost
slaa pup
kcip tsaf hairless
sm ma

i | hrappststts a wlayal syilxt w8lafwts{ h

R u tsawlayal. ixiftsawlayal] | hmj fitayts little brown
c a wifti[sglas ptst o [kit ka[ kiSi L | tsf sa whaya[
mat naqs kilx i [ ks&sv dgst L u kcrc inafs. if spu ts size

"Ha k u
kaftisi{ s ilift sif sa wlaya[: s | allts ilift s,
sj i fcsilift r tfts [istkt ss ilift s. ifs lats ilift s
ctst sts sqipc, scafap s tstafa . s lats ilift sif
sk gRn sif sa wlayaf. ithf mh wtb Ith £t £ dfitx, i
sa wlaya] sapif £t bwtsbt s ct lat- m{hsw t&§ fac
silift sif sa wlayaJ c tst sts sgipc, scafap s tstala
br skgfa sRts, if sa wlayaf trwisif s lats ilift r t L
Juluf[ssx sj 5§ @csiliftr t Liagxridsj § f&c
silift skaf] b | h tif sa wlaya] af cpi
il sawlayal ht r{srecambft [ | [i5] ixsif slags,
rpixdwi ©  tdemalk - cnmkikif sawlayaf wist
sj§ fcsilift r t kx ilaftt £ twif s(h k. nags
sa if fiydk mwttwa tfh k witsa walyat £ iR Dk,
cikstif ksa spi smi lap. i sa wlaya] rc stk wis af
c a, thwtsif x x ut, afct s x f sli, stsca aft
ttr phlfwtss wtsfistkt , if sa wlayaf kaf cfitx sfistk.
il sawlayal c stk wist ksilift s af c ¥ L.
cmj mv hfws whaya[ £ "c afay if lutif ks[atxilxs

resting place

sundown

risoixciri 3, Unit 3, Kargym revised August 26, 2017

72




fistk . iJtkfrb | hilsaw®laya[ b ts$tsifsqgs | hWwts h

Ja gpst s put gipc ,ixif misic tst sixift £ [astkit. il if
if 1 ylataf c Jastkit sa wlaya[ Jalu[scus  t[uHlufsF X,
stmrx s Jastkét . i [ sqs | h svaswlayaf ckj txh stsif
sma [i £ il - m° p & [itt scagfap ts- af cx/[iti[ ¥
stifsfalR kcbdat bt [lis Bt og slaah cqfi t
tu t s nags iyak myws [t twayt b mht Wtss t hustd
if ks[h .

alay i sa wlayal af aJa t ksfistkt sks ilift s. i

sqs | hsaswlayal ¢ auwtssal ¢ t¥r tshkhaki if ast
s [istkt . ilif sicif sma [i nalk rpmElas t wis g
ckr shk. ixift tsa wlayal] krb wtstrrks m j mv hwtsr -
aJay i sa wlaya [alufscus t[aixik w t t[mipaf. i kst
k a kst iyat mwkgfatxilxsr x.

sperm

maternity roost

pup; hairless

ssgvdzh skragl

sti if| hrappststts a wlayal syilxt wSlawts >
ki tt wtlafjwt mi ksif sa wlaya[ ?

ki if ksiswts[Sif sa wlaya[ ?

ki if spu tsif sa wlayaf ?

tsh nfve ilift sif sa wlaya[ ?

.p ki ctst stsif s lats ilift sif sa wlaya[ ?

sti if sl hrin sif sa wlaya[ ?

sti. af kistsif sa wlayal s lats ilift s?

.p ki ctst stsif s § facs ilift sif sa wlaya[ ?
10.sti  af kistsif sawlayal] s| &§ facs ilift s?

11.sti af htr{sa whyal ?

12.sti  af ckistsif sawlaya[t ©~ bB] L~ Db?0h

13. shmwm f f iyt mwts sis” pEshb?

14. sj § f@c, shnjvksd spi sif sawlayal mi lap?
15. afki kaJ c stk wists lats ilift sif sa wlaya[ ?
16.sti  af Kkistsif sa wlayal  [istkt ?

17.p ki kaf ¢c m j mv h jvs= whaya[ ?

18. rxkist i sqs | h Wwislahupst sttkft | h k aw®laya[ ?

© © N O kM~ wDhPE

19.putp ki iftkek | h k wwlaya[ tst sifsqs | hywtslahopst r t fastkit?

20.sti if sawlayal c stmrw s [gstkit s?

21.p ki kal c tsfitif sa wlayal ?

22. tsxitkafJ c s{itif sa wlaya[ ?

23. ki ifslaada sawlaya[t sk ?

24, sxastecqfi ttu t sifslaa sawlayal?

25. sxass t Lt nistsipksh sif slaa sa wlayal ?
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26.p ki kaJ c af aJa tksfistkt sks ilift sif sa wlaya[ ?

27.sti a[ Kkistsif sqs | h waswlayal £~ afkicstsc & tstkhaki if ast s [istkt ?
28. alki kaJ c kkb wist[ sa Wwlaya[ # ks m j mv hwtr >

29. afay ,sti af Kkistsif sa wlaya[ ?

30. sfistk, sh miywat mw i cfatxilxr xi[ sa wlaya[ ?

acltslragl
- g jtsr vhi tsawlayaf tspifsit s exkinx? sfrwj hmw tt kts >
. haa mis sl tkcrc ina[ k k s [ina[ ? ma xit.
s h mwilift ? ha hwt&s cafap tsskif t as [istkt ? ma Xxit.
.haj ssf hrin s lat? s¥xkinx? sfrwj hmw t t kit s >
sti. al kistpnaft ragsikwts [sitrsiolEa sst? ma xit
. hap Julufsnaft “la &k s¥ & j?tsfxkinx? sfrwj hmw tt kts >
- g | Bswitofhmispi im asrrgqsk wts > xit. |
stt af] jhrswts FHjt> by fjt bbhhtitj mSstdDmdsXiwts
alki a mikakstit wistsica cis wis ki ? sxkinx? ma xit.
0/ - jtck,sicbvinxs a if f iy mwts t fh k wiss Lxi. | -
11.ha htr go@mdt [ j[5] 89 s¥xkinx? stwj hmw tt kts >
12. ht aswlayal,sti if mhwts s [sIsyibuigwte [ "h £ r[srcambft [ (5] &
13. ha stsqga aft if asilift ? s¢xkinx? sfrwj hmw tt kts >
1l4.hac tr sk iaft aciswt fxkinx?*sfrwj hmw tt kts >
15.haa astifsm | mv hwtxkinx? skwj hmw t & kts >
05- g stisj stmiifr phkwt| &8k s sthij 85 | h W Jahgpst s mininwif{s [astkit?
sxkinx? sfwj hmw tt kts >
17.hai[ sqs | hwasrrgsik wis] txhstsk c aftmistsif sma [i t° fit? ma xit
07- g ippapk jdk pial ? maulxit.
19. sckstass + g wigtff b5 sgfstap ssmi kib wist r knwjwrs  ¥xkinxr? s¥wj hmw t &
lut ?
1/ ¥+ rirf,hapc Jalufscus t tfatwilxmaft Ffgsikmwts fxkinxrs+xj hmw tt kts >

© o o U A WN O
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g iils t |l
A. Verb Box

sag s

FRvin  / IR i t- to leave behind

aksc = : Complete the verb box with the matching tense/aspect.

i ci anweé al gl a | mni

mni

mni

intransitive
past/present

intransitive
customary/actual

intransitve
progressive

intransitive
imperfect

intransitive
future/inceptive

intransitive affirm.
commands

intransitive neg.
commands

transitive
past/present

transitive
customary/actual

transitive future

transitive - —
commands

present durative /
present perfect

future durative

past perfect

future perfect

B. Verbal Exchanges aksc [l
the question and your answer to English.

answer the questions with a complete

SF XCi

sentence Translate

1. hak trwin ti af [it? (lup)
1- g b wisctas ixt? (ki )
3. hap stismni Ltrs st if sh? (kiwa)
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3 - rguit tp iff statfi tx? (ki)

5, uca mij hrywin £i s =t ? (lub)

5- g “fwipafx t aspu [sx[itx ? (ki)

C. Past/Present 36 Verb Box aksc ®1: Complete the box with correct transitive verb/object forms

FRwin / IR i t- to leave behind

i ci3 anwé algla |mni & mni IR p mni | Bx

i cid XXX XXX

anweé XXX XXX

al gl a

mni | m XXX XXX

mni |R p XXX XXX

al gt a

mni | Bx

D. Transitive Verbal Exchanges with Objects aksc t1: answer the questions with a complete
s Xci  sentence Translate the question and your answer to English.

1. switif | Sttrwis ? (as ®y)

2. switi [ ] Sftbrwi t i canaft [ilsitals ] 5 > [qagtall mp)

3. switi [ v lrbr > fb r' xidntrt)

4. switi [ rwi ts? (i s $h

4 - roving x2 (ki )

7€
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5- fg trin b ? (lut)

E Future 36 Verb Box aksc =1: Complete the box with correct transitive verb/object forms

FRvin  / IR i t- to leave behind

i ci anweé algla [mn IR mni R p mni | 8x

i CB XXX XXX

anwe XXX XXX

al gl a

mni | m XXX XXX

mni |.R p XXX XXX

al gt a

mni I 8x

F. Transitive Verbal Exchanges with Objects aksc t1: answer the questions with a complete s xci
sentence Translate the question and your answer to English.

1. switif[]j St rkit icanaft R wts > ¢ 'ap p)

2. switi [j it rehr  >iscal)” L

3. g [Simwvin ? (ki )

3 - r wivis 7 far & ji
4 - g fwinmj x 2t (lut)
5- t brwin R jlut:
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cdzs st I qa@ s

1. R u - little brown

singular: ¥ u

example sentences:

1. if] hroppsstts a wlayal syilxt wslajws{ R u t sa wlayal. (The most comm on bat
in the Syilx land is the little  brown bat.)

2. iscwiksiwts[l u sk xist. (I saw abig brown bear.)

.ifs lip R u if s¥ra a s.(The coyote pups are little brown pups.)

2. s&sv dgs size

reduplication:

example sentences:

1. i[ sa wlayal mat nags kilxi[ ks&sv dgst L u kcrc inafs. (A batis about the size of your
hand and has little brown ears.)

3. s k gRn - resting place

example sentences:

1. s lats ilift sif s k gRM s i sa wlayal. (The day roost is the bat's resting place.)

2. k'iJ] Jc stk ™ [ wdd 1hs[ hm@Rm s. (Where the wind do esn't blow is where the cattle
have their resting spot .)

3.0 lif a statsh § méRn s. (lwentto see his rest area .)

4. ks[a usRs- sundown

example sentences:

0 - r skifa ushstsif sa wlayaf trwisi[ s lats ilift r tfHlufssrx sj &§ f@csiiliftr t L
kspi a[x. (Asthe su goes down, bats leave their day roost and gather together at their night roost
to get ready to go hunting.)

2.put qi qg§gRytqgj it . dbwas just sun down when we got back .)

3. saohhff r pchtk wsttsao hijat mwtt kb | i g § g R ¢ong ago people went out
and started to work from sunup til sundown .)

5. [a @gpst - sperm

reduplication: b1 Upstn

example sentences:

1.iJtkeb | hilswwlayal bj tsstsif s s | h Wis Jahgpst s put gipc ,ixi[ misic st sixift Lt
Jastkit. (The females saves the males sper  until spring, when she is ready to get pregnant.)

1- ritfk cxi” [rs traOss rs{ h@gl 1 & (A bull could miss and go off on the cow for
nothing.)

3.im*f jaw™ Jiwxt t | si katisk a [ gpst. (Mydogiso IdIdon 'tthink he has anything
to squirt anymore .)

6. 1astkét - maternity roost

exam ple sentences:

'
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.ilif if I ylataf c [astkit sa wlaya[ [alu[scis t fbillufbr X, tstmflx t 1astkét . (At that time,

all of the pregnant female bats gather together to form a maternity roost.)

1- st hem@sjisii wis[ hfs Tihfw _ @tr.i (The woman that gets preg nant with a bunch

of babys they're the ones that need a quite place to rest )

2 - miwtsthy art't Ipjrsx s _ @tr.i (Aman hasto be careful , could be all of a
sudden they pull hi m into the maternity ward .)

7.s[faBB - pup

reduplication: s¥ 1 "a

example sentences:

1. afcxitiftr st ifsf/aB kcipsa[t £ [lis 5t o sWhen it'is born, the pup does not have
any hair and it helpless.)

1- R B s (He hasalotof puppys .)

3. nektsafls h prab ™ [ ssRY[R . (Small puppies are expensive.)

8. kcé® da - hairless

reduplication: j b ¥ ptisb [

example sentences:

1. afcxitif tr st ifslaad kcd da t £ [lis 5t o sWhen it'is born, the pup does not have
any hair and it helpless.)

1- shgfwtsm™ [ biw [ slist k [ a Rédimy (When the mice are first born they are
naked.)

3. h[shlut sti b mh tiba ¢ ©1d4dTo some it does n't bother them to be naked.)
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11. qR dzs v  s\Is dzpss

u s
cts = be in training
b #& timafx puberty
cfrptswhs sew for someone
rj tstcup to fast
ws htwtss menstual hut
uti tk downstream
utss roll
gsqin scratch head
gsayafqn scratch top of head
nf gsaqs one set of clothes
laf cut pray
t¥c t¥cspufus strong hearted
bj tstt send someone
txrut go up hill
yfw ts | th drop
knf sisx heavy rock
tkik | kK wtsh become a woman
n¥ gspi tk one year
ctr stk wts simple dress
mutst keep home
h wists different voice
yu gnwi x body becomes thick
s p fEimit talk about something
claxifst able to bathe
t 5 tsygs pile
ct isxn mark on rocks
gt witxh become a man
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SmM ma

t agl
afR dg x.
Kksr sl ifx

xRXi

it t itnafbxrxi x t taflicdz dm t°
iftut ntapcRodzv dr @ tsrfptsschict
S.

X t

if iif qi dzs@bif xix t t tway tstst. if ilif
st xifxix t , af aft £ [lisctxyr mist, milutks u sts
if srepr hsk st £ k titsx gtsrifssrep r hrk wi

Jap kstas t.
wrglgyg
by kst it xs
bj & if

i xix t c¢ Jamut shtswisdg[sma [i |
wgr tk t  cwixt . lut a cxifxifstisf xif sqgqs | hw
sma Ji s ht wfc tst oix if sqs | hwts

sal afsifsma [Ji L b#k st xrx

if lutif st twtsema [i if shtwwsdzl rif

grpgi t st
kstrq tisif

L riss & s ingfs. af tiss xif xix t lut
grpgi t st ilif. ¥ | h mjrrksqgin sif t

s¥ ifmigsByagn . iJnRgsagsift t ut st ilif

Jap kstas t.

ylatst jrjskastif xix t with k w laxk crle ixal. £ °
cfistk cmlastsifr wistmisic | § tcut si L] tsif putijh
kv Jamut if sma Ji shtwkex t cist t

ya ]t

st jatstst if kignix tsti . t £ mhrw s Syafx

t £t miswessifslal . J[a cet mi astt ct sh t L ast

b wwststi [
ks ilwifr

jrprtp 8last laf cut mi astsqs | h Wyt h
tbimh tdbp mifc digcspu os.

if xix t lut acsi stt crc ixaJ] k t Jacqfis | & /h
c nu stsif sti  atfhtafli af af lapnaf. ni a p j tmulm

ixif af ¢ 15
i shai
t Llaf ,

XEXi Xt

t rsrcskst. lut a httwitilif [ap kstas t.
dG4sRx j & £ b tik b wist. wist,w a

L tsipsif spufustscma kict t ksumixs. i

C sShistsif nrsnlastt x t s tkrit t £ i t b

yRv dzk f gnRsisx ami s sif af alqi x s. ixif mi

t¥c =ctwi

c tststsaf
Xifxi[stisr w
{ap

xt bt xit miiiy ttr ks sh s. if] tsh

b#t mimafw t katsx latc tstm . i[] tsh lut
j rsthtsh t ftxhsif] tsh.

kstas t, i xix t L la Ff apr - f fshst

stsif] tsh t tfashs s rsintsrh t Hisssi[t t ut s if

be in training
puberty; sew for

to fast

menstual hut;
downstream

roll
scratch head:;

scratch head; one
set of clothes

pray

strong hearted

were sent

go up hill ; drop;
heavy rock
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iwxif strt ti scklack ixif c ami saJca i aft
sma (i s htsvBapnd[ tkR- k j x.dzg

t Lt mhwstHif[lkixi x t , nRyspi tk ksfc 5 ®=U st
if nrqspitkif ks s ®usts, if ctR dAR dzdRl- _ vt diz 1ak
r L4j lmst ksdaxa[x t £ Isthtshagsif nags iyak mwits
cyincuti iyak mwit§ r & mumafx ta [li af af lapnaf
saf*il s,ixif t £ [listxr tisif sr,pr hskfwetpgs | hwis t L
tafli chafstisif af afj . taflic st t £ fhniyal stsif
tu s,if s awasg[s,stst r t st smafsnaft agnaJr t L
ccu mafst ylatif kscmisis natsnts t ktu t . put
cmri , lut ksknagsts k itif Iwist knags. mutst . p Ki
wa ckxsti ift sma [i strwtss wskt rt §  apsixif
Ctxf sti

ttoit
ijt titmmatt  ribtht x g Wdalz, yugnwéx
t Lh wwsts kif sqitks. p ki tr ks tststsif trt itif
f ¥ apsnalt [ ggs | hsnmp r hsk votelz dz mé&Rx ixif t &
s s X
kr Papusif ks tststsif trt it, ] st x i wist
ksiifa[x Jap kstas t. ¢ la] L jrjskastt L] &§ fac. laf cut
misisyust sqs | hwts™ t € cpt ~. claf cut mic wist o
cmal sait, lapts t £ mhfvif | wtetsnisr  [im" Jit g
j £ v afrtx¥ cuth fap kstas st #s ipsif spufusts mi
kic t if t ksumixs.
ht r& xwt , if X pulafjwts wa wth kw t L
a sclaw- f sfistk cmlastsif r wtstixif mi cfaxgst i[
ttitbj &h L jristastt £ kr wisefacgalt j sht L
t¥] tcut si L] tsutif o wist, i sau mafs, ksfulufsrsif
XXts ttde dzg_gsitif. iJ] shifr phé&wtsfs mi
ct isxn t “cwiksts if ksumixs ilif £ ° Iwis  wist. ixif mh wt
if xX¢xi x ot il itif I h  pusif sumixs.
L labif trt it srep r hskiifteyt v dggixift Lt
ksrcpi a[x kscfa stisif srep r hskkertkxstisif sqqs | hwis

cpi . itift £ jstsafts afcin  k sk xist.

become a woman
one year
simple dress

keep home

different voice;
body becomes
thick; talk to

able to bathe

pile
mark on rocks

become a man

sspvdaf s I rgl
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1. s switaJc s ' £ ribtlh x?

2. swita [ crpswi ¢t itimafk fx wv sSstsfrbr hbf siifk 6P
3.switi [rj stup L ik D Ex?

4. sfwj h mw rtnistipx@xwt &£ ° ribtl x?

5. tsxas ta/ b#k =1 xlut act itx stsifst ti sifshpr hkwtsr >
6. alki ka[c [amiuta[ b#t =0 xxix t ?

7. alki ifsma [i if wshitaXss

8. fxkist ifsqs| hwts Ha ifbjsaf afsifsma [i +° ribthh x?
9. ki tst st ifgfrpgitsifxix t iflutifsft twsema [i if wshtsiss
10.sti if af tissxifxix t ?

11.sti if xix t af c 5t stsmiqgsayalgn sma [i if wshiteXxss
12. sxagsift t utsifxix t £ i[hkma [i i shtstxs
13.sti af kistsif xix t y}' s FjLipsE?

14.sti  af kistsif xix t & Jamut sma [i iJ] ws hteits

15, sti lafcutifxix t £ fdmut sma [i if] shisiss
16.sfrwj h mw xik ¥ ht acsi stt crc ixaf k t facgfisj & >
17.sti af kistsif sl Lt st¥jxtst] § fac?

18.sti aJc shistsif xfxi x t ?

19.s¢xkinx i [ x¢xi X t ¢ tshirsr tws|bhxf lewsisxh ami s sif af aJginx s?
20.hac ststsal btk mimajw t £ sthj Bh

21, Bxass btLok¥ g+ apsifxix t ?

22.sti af kistsifxix t £ Btof ¥ aps?

23. fxkist i iwxifstrt ti sifxix t ?

13- trctsbgust if nrgspitkif x¢xi x t ,sti af cla stis?
14- trctsbgust if nrgspitki[ xfxi x t ,p ki bj &rhfx?
26.sfwj h mw [litchafstss i af afj Bxif r £ imafx ?

27.switi [ ¢ ¥ niya] stsif r # tumafx ?

28.sti af ccu mafst ifratumaw s r mphkwtr >
29.putp ki lutksknagstsif saf mix ?

30. swit a [ ckxstis if saf mix put cmri ?

31. ki mimmas L¥ibthtixift t it?

32.swita[ c s ®istgw L ¥Ethtbxift t it?

33. alki kaf bj stew £ b thtbxift t it?

34. sti laf cutif trt it?

35. tsxas tctxf cutif trt it?

36. st tsipsif spufustsif trt it?

37.p ki ka[ bwiksk w & kdalxif trt it?

38.p ki ka[ bj #&rh if trt it?

39.sti afctts ts°gs wistif trt it?

40.sti if shifr ph kwmsfskf trt it?

41.sti af kistsif tft h's L£t® wixif

acBts rgl
0 - g BjEs] B8 Lt @b k? s¥xkinx? srwj hmw tt kftts'tsitst sPvhs h
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2. switifcrptswhastrt ti  ? ma xit.

2 - g jdBttr jSEtad? s¥xkink? sfrwj hmw tt& kts >

4. ha swit u st stspifsik s #xkinx? sfrwj hmw tt kts >

5. hai [ sma i asrrqsik wiststb stsif ws h £ Wwtssxkinx? sfrwj hmw tt kts >

5- g st AxdDma Xit.

7. ha aftiwts r v htsr [ssh s > gaf tsis ¥ ma xit.

7 - g | Blagn@tp hlmt? s¢xkinx? sfrwj hmw tt kts >

8 - g lafjctambni a0 | tgc tFcespufus? s¥xkinx? s¥rwj hmw tt kts >

0/ - fstx shi haasnrgsik wip skit s j &§ £ b j 5 bwist? srxkinx? sfrwj hmw t L
lut ?

11.hac £ shor s wifir ¥ ikskic tssfcsicif st ti  ? ma xit.

12. ha p txrut naft lad ktn fgskaci s? ma xit

13.stimi [ yrwts| shwkspnaf ts lat? ma xit.

14. ha kn ¥ sisx xafcin sa ciswts gfi ts? s¥xkinx? s¥frwj hmw tt kts >

04- g  dints ?bhadhgsik wis dinj t®hma xit.

16. haylats latc kfhr s wrs ti r?ssexkink? s¥wj hmw tt kts >

06 - tmwrsgh F tkrkt k wisht wxP ma xit.

07- g | stsir crbtsrt”™ wtk nilao | tssdut ? ma xit.

19.stimaf j hr swtsnctif ijak mwts > hwegkj dls + nclid hiydk mwts axit. |

1/ - fsx shtihani apc fnyal] r swisu Jastd ? s¢xkinx? s¥frwj hmw tt kts >
21. switif cu maf tsif kscmisiwts ylatif r £ bt? ma xit

21 - F sa[imix/t [ik, hani a pmutst sa f f ap? s¥fxkinx? sfrwj hmw tt& kts >
12- g jeschwets | [t LpEBgixkinx? sfrwj hmw ttE kts >

13- s shs + g [pbsfrpigs sif sqgqs | h wasrrgsik wis sxkinxrsfwj hmw tE£ kts >
14- g lajcBtmhth j wtsh o | s [Lscus b | | apis™ ? sexkinx? sfwj hmw tt kts >
26.hax pulajwts t £ j v Wwkw td& sdatk lapnalts lat? ma xit

16- g laxjfstspfsik s sexkinx? sfwj hmw t+t kts >

28- g [istcut si b j tsscgfap 5?7 srxkink? s¥wj hmw tt kts >

17- g igpxts Dsrxkinx? sfwj hmw tt kts >

29.hasct isx iaft asilft ? ma xit.

30. swit aksrckxsti ¥ lap ? ma Xxit.
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giils t il gag s

A. Conjugation Box aksc t1: Complete the verb box with the matching tense/aspect.

yR/ dzk g I yRv dzktgto drop something

i ci anweé al gla |mni

mni

mni

intransitive
past/present

intransitive
customary/actual

intransitve
progressive

intransitive
imperfect

intransitive
future/inceptive

intransitive affirm. - —— —
commands

intransitive neg. --- - -
commands

transitive
past/present

transitive
customary/actual

transitive future

transitive affirm. - —
commands

transitive neg. - —
commands

present durative /
present perfect

future durative

past perfect

future perfect

B. Verbal Exchanges aksc [
the question and your answer to English.

answer the questions with a complete

0 - gfwiishtesc sbs > ) ' | h

SF XCi

sentence

Translate

2. hapsrcyrwts| h mwtsh tp#® Klut)
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3.sti afcyrwtsl hr s ox u)

4. hay rwtsl shwips h ? (kiwa)

4 - g “pafpagsi kajw t fivjsinx agfit ? (lut)

6. hak

ksyw 5 Ina[x t

c shf ? (ki

)

C. Past/Present 36 Verb Box aksc t1: Complete the box with correct transitive verb/object forms

yR/ dzk g I yRv dzktgto drop something

i cBB anwé algla |mni IR mni R p mni | Bx

i CB XXX XXX

anwe XXX XXX

al gl a

mni | m XXX XXX

mnl |R p XXX XXX

al gt a

mni | BX

D. Transitive Verbal Exchanges with Objects aksc I :
s XCi sentence Translate the question and your answer to English.

1. s switifyrwislfh & x? (st rt alifstrt)

answer the questions with a complete

2. switi [ | wSftyrwis] th i ca naft

P ts kgs Pn(s tr

tan p)

3. hay rwtsl¢h 2 (ki

4. hay rwis| thSwlatg ? (lut)
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5. hay rwtsl tmrxi canalt Pk a ? (kiwa)

6. sfrwj h mwecatj t5tyywwis| hwts [a BF

E Future 36 Verb Box aksc =1: Complete the box with correct transitive verb/object forms

yR/ dzk g I yRv dzktgto drop something

i ci anweé al gla [mn IR mni IR mni | 8x
i CB XXX XXX
anwe XXX XXX
al gl a
mni | .m XXX XXX
mni |R p XXX XXX
al gt a
mni I 8x
F. Transitive Verbal Exchanges with Objects aksc t1: answer the questions with a complete s xci
sentence Translate the question and your answer to English.
1. switif ksywis| th? (sla t)
2. switi [ ] wSftkspwts] hr swist' rr(
2 - gl ksyywst | thi canafk Jdgske (ki )
4. haksyfwtslrh £ Swlatg ? (lut)
5. hai ca iksyw tsinmf x ? (k iwa)

87
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6. s¥xkinw t fca jhigftksywsl th? ( afit)

cdzs st I qa@ s

1. dz_dg- to train

example sentences:

1. tasl ift t itnafbxfrxi x t taflicdz dg £ bk =1 x. (Both boys and girls received much
more training when they reached the age of puberty.)

2. wist £ "c dz_dgsti[t t it. (Young boys go to the mountains to train )

3.aflct¥ ® axn tafli c dz delstsmic wtst gFootracers train before they have to enter a race
to win .)

2. IR dzs

reduplication:

example sentences:

1. tasl ifttitnafbxfrxi x t taflic st £ 'aR dg x. (Both boys and girls received much
more training when they reached the age of puberty.)

1- mikkscash=ar s | Rdzs x. (When they reach puberty they train for one year .)
2 - x1 s iyatbrsvitdtstm @At[ha[ll Rz x. (BEvery new mo on she has a sweat because she's in
puberty.)

3. R dzv gew for someone

reduplication: ¥ ptsp swh

example sentences:

LiJtut niapcRodevr @ tsrfptssschics F fsirifx s. (A mother always had new
moccasins ready for her s on or daughter at this time.)

1- Tqdwitsh([ radakfr i RloBzm dzvyg rj sirhy[ sv (There were alot of ki ds and | sewed all
of them mocca sins)

3.lut ° jLkSr hjftwarls[Ro dzv gThe boy doesn't have a shirt so | better sew one for
him.)

4. q i dzsgb to fast

reduplication:

example sentences:

1. ifiifgi dzseif xix t t kway tstst. (Girls started to fast as so on as they started
menestrating.)

5. wr g I ¥ynignstrual hut

reduplication:

example sentences:

Lifsma i if wr gl sugtkt cwixt . (Themenstrual hutwas located down stream from the

88
risoixciri 3, Unit 3, Kargym revised August 26, 2017




village.)

2.0 [ Is tjftik wswr gl wdzrs va+[ rustbt s | h r h b hk wiBt woman sits
in the menstral hut until she stops bleeding then she bathes herself before she returns to her home .)

6. u dzl fr roll/tur n for someone

example sentences:

Liflutfsft twsema [i if shitwwsd rifgrpgit st £ rliss & s inafs. (Before
she went to the hut, the girl's mother would tie her hair up into rolls that hung behind each ear.)

2.0 mikhjrosypftpbgt |l ~ [ p@dirpf op. (Iwanttocurl myhair, please roll up my
hair.)

3.k k d&_1 sic wuqgi " rs Rr.L{#rolledup asmoke and | litit and had a good smoke )

7. gqsByaygn - scratch the head

reduplication: gsqsax ~ [ p

example sentences:

1. &¥ | h mjrrksgéqgin sift s ¥ if mi gsayagn . (If she wanted to scratch her head, she used
stick.)

1- RI sdkr i sjatspts[ t £ xlegsgsBw ¢ oRX. (Allthe children at school got lice
so they all were scratching their heads .)

3.nxm jLepes” [if hipdx ~ [ ptLt ¢sBw_1 o I( ]| hear someone has lice and my head
starts to itch and | start to scrat ch my head .)

8. nRysaqs- one set of clothes

reduplication:

example sentences:

1.i[nRgsagsift t ut st ilif Jap kstas t. (She wore the same simple clothes during these ten
days.)

1- s rswsr thy tRtogs h p w tssts. (She was in such a hurry she only brought one pair of
clothes)

3. myak sxsf  phfc s'd8r th] RBagph fc [dis. (She chose an expensive outfit and
could only afford one outfit .)

9. [a cat- to pray (for oneself)

reduplication:

example sentences:

1. [@ cotmi astt ‘ctsh t £ r s weshifg) r prp 8fast (She prayed that she would give
birth easily and have healthy children.)

1- x# kwtst lkcld s ¢gf Ish ¢ s filt. | (You pray everyday for yourself then things will go
good for you .)

3.1 cak cJ _eet. (Iprayfor myself .)

10. dic dEcspu gs- strong hearted

exam ple sentences:
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1. laf cut mi astsqs | hWis ilwifr thimh tdp mic dRspugs. (She prayed that she would
have a good husband, and that she would have a strong spirit.)

2.1 a ti st dzReézRa qemlsty a lap. (My horse has a big heart he do esnt quit .)

3. haanw i tsdzR dzikstg n gs1? (Do you have a big strong heart?)

11. a i dds i dzssend someone somewhere

reduplication: | t stt

example sentences:

1.if] shai d&dsRx |j &5 B b tik b wist. (Some girls were sent up into the mountains at
night.)

1- Imwts aiidaegr gnicwa h §c sts. (A boss sends everyone to do something so the work
gets done.)
2 - Jgwtssis™ § as j ilt. (He sent me to get your daughter .)

12. txrut - go up hill / climb a hill

reduplication: tx xrutm

example sentences:

1iJxfxi X t ctshistsif{ nfsnlastt x t s tkrdt t L i t £rwas | i knrsisx
n afmi smsi{ af afqi x s. (Girls would carry heavy rocks up hill, and let  them drop betwe en their
legs as they walked.)

2. itif johxfut h §° [irb . (The deer climbed the hilside over there)

3. wik h gl i txrut t £ fugk p(l seenthat cow climb the hillside and reached the top )

13. yRv dzktg drop something

reduplication:

example sentences:

Li[x¥xi xX t cthistsif[nrsnlastt x t s tkrit t L t tyRv dzk  ¢n¥sisx
n afmi smsif af alqi x s. (Girls would carry heavy rocks up hill, and let ~ them drop betwe en their
legs as they walked.)

2. lut _ i q wRwndzkDon'tdrop it .)

3. ¢ wsthsst t tq [ _ qgéf ( lkwas carrying them but | dropped them )

14. knRsisx - heavy rock

reduplication:

example sentences:

Lifx¢txi X t cthistsif nrsnlastt x t s tkrit t £ tErwts | ] knkRsiex
n afmi smsi[ af alqi x s. (Girls would carry heavy rocks up hill, and let ~ them drop betwe en their
legs as they walked.)

15. tkR- K v>dzbecome a woman

example sentences:

1. lapnd{ tkR K§ v>dz¢Now the girl was a woman.)

2. i mir i RIkjay dggdft. (Your daughter is just aboutto turn into a woman .)

aC
risoixciri 3, Unit 3, Kargym revised August 26, 2017




3. hfi RI&jas dgiftt £ | t s (As sotn-as your daugher turnsintoa woman you sit her
down.)

16. nRyspi tk- one year

example sentences:

0 - t £f mhiywrxihx t , nRyspi tk ksc 5 "=Ist . (Also at this time, s ome girls would do a
whole year of training.)

2. i | Rodknngix pnu isma ax = [ (In justone year |'ll be done with school .)

3. | Rogktgtiva c tsti h [ jjuwts(We wean the calves when they're one year old.)

17. ctR dz&R dzdqll _ v dimple dress

example sentences:

1.i[ nrqgspitkif ks ts tdsts, if ctRdAR dzcRl _ vtdz 1 x  rjtipstsksdaxafw + t tstnb jnagh
if nags iyak mwScyincutif iyak mw(@uring the year of training, the girl had to dress in simple
clothes, bathe each morning at dawn, and sweat at each full moon.)

2. £ ch “str hfwtkribr jstshs,c I} i [ r Rizr &I R I ._ ¢Mimn she wears a dress to the
sweat, she wears it with nothing on under the dress.)

3. ity s¥br by jhlf Rzr & RI. _(Wstgasy to sew a simple dress .)

18. mutst - make someone stay home

example sentences:

1. putcm frim, lut ksknagsts k  itif  Iwist knags. mutst . (Until she married, the girl was not left
alone or allowed to wander around alone.)

1- hyf Wwhwes¥w twa ks utst . (Assoon as the girl gets her first menses we make her
stay home.)

3. mutst ot s s Jkwtht] rwlst r(Wédhave her stay home until she gets a husband then
she can go.)

19. n g \Rdalzj- different voice

singular. iw tsn

example sentences:

LiJt t it mimayt £ ¢ibtkt X ng \Rdalzj, aybgnwix t £h wwsts ki sqgitks. (Boys bega their
puberty training when their voices and bodies bega to change.)

1- x1 @ chRvdaodz®vidz bu K.t (All young boys voices change when they reach
puberty.)

3. ¢ gvcdzh f haprsx £ Ip g8 (The Shuswap speak a differnt dialect .)

20. yugnwéx- low voice

reduplication: yyu gnwix

exam ple sentences:

LiJt t it mimayt £ ¢ibtkt X nh wusts k bymgnwéx t £h wwsts ki sqgitks. (Boys began their
puberty training when their voices and bodies bega n to change.)

1- btiwtspyyuqgnwéx £ ¥ sz ¥ 1 w' [ WMen's voices become low after they pass
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puberty.)

2- rhtftyulg £ IpEiks (The bulls voices are low when they beller.)

21. r o dgda Imént- talk about something

example sentences:

1. p ki tr kstststsif trt itif f ¥ apsnaft [ &qqs | h sntp r hsk votslz_dg m&Rx ixif t £
s " s X. (The time to begi a boy's training was decided by his parents and by his other male
relatives.)

2.p ki mir odz_1no@pRR ? (When will they talk about it?)

3. ixif{ hdr odz_meéo dz (That's what we 're going to talk about.)

22. c[axést- able to bathe

reduplication:

example sentences:

0 - f gfistk cmlastsif r wtstixi[ mi cfaxgst. (During the winter he broke the ice  in order to be
able to bathe.)

2. tr wis [ hrsprh kégth [£ [rhww | h & [ rBla ffThere was so many people it took a long time
before they could bathe.)

2 - x 1Y sa [xg ghr [~ fmix. (Everyday the maiden is able to have a bath .)

23.t dz dz_gs- pile

singular t t5°Qs

example sentences:

1. putif v  wist, i scinnmafs, ksfulufsrsif x x t s ttdz dz_gs iti{. (While he was in the
mountains, the boy was told to carry big rocks and to put them into piles.)

2. s a "~ Htkr Lik ws+ x1 tsiz dgqdlj §ti s. (She's pretty sloppy with her stuff , she piles
her stuff everyw here.)

3. " [ijaxa] Itz gt ? (Where shall we pile this stuff?)

24. t isx - mark rocks

reduplication:

example sentences:

1.i[] shifr pheéeiwmfs mict isxn & “wikstsif ksumixsilif £ ~ Iwis wist. (Some families
would instruct their s on to make paintings on rocks if any spirit power came to  them while they were
in the mountains.)

2. c c iw™ [ wisgthg isxh.k (Over in many creeks there is a lot of striped rocks. )

3. saohhff r phiswwtsc astir bafts. (Longago people used to write on rocks to tell what
they saw or did.)

25. qt v dzg become a man

reduplication:

exam ple sentences:

1. £ labif trt it srepr hskixiftgt v dzg ( When a boy returned to his family, he was
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considered to be a man.)

1- cot v dzghj fvo raoxif th [ r s b sdk = [When boys gettobe men their able to produce
kids.)

3. gt v dzgt ts * L ssisyust g tmiwts+ s wis! (HealsshBdome quite a man, he has lots of
kids!)
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12, R

bz xalv

st c

_cut

A personal account from A Salisha Autobiography by Hmishm¥s (Christine

Quintasket)

qu s
a tisx sit on a rock
bjitelafr s 1 plgf lead (as a horse)
tsh to braid for someone
ing[ t roll around ears
tgal * touch
tx¥ £ s hil wrap for someone
kaist wash someone's face
m ust face paint / face makeup
cla crimson red
sh t tuck / wrap something
lista shawl
w tsifst able to go
£ wtsmh t send someone
taq t wave hand
Exipt close something

t pmnagsm t

put thing in clothes

hlaw st loosen something
tw gt have difficulty with something
srw bmay trainer
Ja [i kst wipe hands
li s wipe face

a us get wrinkled face

m mi rub
tr gtaqt foolish
tajwtsr x| get spiritual power
sm ma

gpc kif k rL & afx. kK a tsx t L jpt ptsqysiton arock

at_[hk ht tL mkkigksain itu k t kxa
aiégdast i kwap. if k Jup j r s [aH tspi tk. il if sic k lead
kicx, i tu | tgftcus,"wtstx tsh wa kwap lapnaf !" t £ [ i

risoixcid 3, Unit 3, Kargym

revised August 26, 2017

94




btr Kkt s itwmwtputkj £ stwix. cusa fc it af af t
tkhb | hk wts tubtips| tafsgaxa].

] Bt stsi tu ] Blttrx s hr t[L Itis tsdrpqi t
tt J st éastiss ¢ pingl. kK s wts qikstgl
i gFpgi t +  j®US, "lutakstqda a grpgit c k ~ o cpla.
stmtifs¢ if LaksogRsgér - ! [ ix®&t rigggpqgi t t

si if ixif milutks shawtisr [ap kstas tilif ksscd br - [ ]
ka ésRstt [mittsrisdsttum m ust - Jj visttts
tsifpepiipalilifc gnmi s s ifx ,sk xists st btscfa
tum t L frif stxmi - Jlsbigtssiifstxh t £t [ ts

dzg s if t lis[3- Jsts8 ifxst sfcsict s siifx , ixif k
wa . wa k com cutk knagsk | r uyg[x  wist.

i kst tx spdkif] k vdast, ttx sphbj hbw
i mist - stwiwts ¥ ap,cuti mist wa  sapif
al af ti iksul hw t & kik ¢kakicsb. stislut ~r s [] s
I v olzgs wist. stisixif ta mus,ixif sapifta tstm t Lt
caJ]j s{rhphk fytss B Wtsamafif tstm s. i tu Iut a
it Hi swr ppstssh+ r fiagsjkgpxsh | ip i
LIl ho t gawjt tac wist

k [Jhkwtss hwismuj tgx ,kserti t £ jj st jutst
br L hibx hawtsif wistk ck a txxts t¢t
I Bmnagsm - w st musjlutis lap put i k qitsick

lap. ixif sichfaw st ivyiipt Lrwts| B cxfitif x ut. k
br tajwtsr p tsfr phstifHh b wis.ti ca k cgicx. k & qit
t Lrwts| R sfasgstx t s t " htt af trsclacqaf
i trwlt . lutp ki ikstv éstk & t tsh "

ithf ts 't ifj tsftcct mafstsi tu t tisRv deama
k &r ka i s crc ixaf,t ptch k 1a1€kst , k i s
lutikstga istsus. afhc k [i ttwa k a@s ot wia
C stpta tt p'tscut,humaf ifk ~r ti& |
w ts[Spi tk." I kkix naft @frufxa t p tch, puxts
iyak mw s a gsisca la ij r s fatlahxabk
laf cut niapk tcts' bs- rqaskti grpdi § kmaxift
strxmim™ L jrjsimst k
la[xt if iyak mwett sap, k mut la st, wrswisxst
i a b nch £

mi

m mi

tskstmist, k clax crc ixafl. li tm ,

IS

putif kK ¥ st tshit i r p h kstistniyat tRytaqt tr

braid

roll around ears;
touch

scratch head;
wrap

wash face; face
paint; crimson red

wrap: shawl

able to go

send someone

wave hand; close

put thing in
clothes; loosten

have trouble
trainer

wipe hands; wipe
face

wrinkled face

rub

foolish
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kst wishsi[r p tsrfp ifrkiags. [a xaxa[ if 5 ©a gs
naft [ hshi[s samaf fJa tipt tr phkwts t Lt Kkdtss
ifnstmsx. iJt f ¢ aptrt, lut a Kki put [ap kstas t
ks tststsmisic wa . £ ‘ccu maf. icak twgd, lut

ista v dzg &.k get spiritual power

ssgvdzh s Frgtl

1. swj hmwptsbtpts GisAr gl

2. stiif b jitplafsts Hmishnm¥s ?

3. tmwrtkeHmishmsr  Lfl Sk afx ?

4. ¢ i st Hmishmrr fikicx bhswiss® st

5. sfwj hmw t £t Kkitxs sifné jwhafsqa mfs Hmishmis ?
6. switi [ tsts Hmishmrs ?

7. ki tstt Hmishmrsif grpgi t sttu s?

8. ki mig¥fsqin Hmishmrs ?

9. tsti tx¥ £ s hf grpqgi t s Hmishm¢s ?

10.tsti mi £ s if s s usts Hmishm¥s ?

11.sti if wtstt  Hmishn¥sttu s?

12.sti ilif p &p tfipaf if wisths ttu t s?

13.tsti 17 b £ Hmishnmksttu s?

14. t sti stp t  Hmishn¥s ?

15. afki j r uyw[x Hmishm¢s ?

16. shmyk hjhhbw ¢6i[ mistgd?

17.sfwj h mw fstwiwgsts Gl hsrifg | ¥+ aps?

18. sc tisHmishmrsif mist s,cafj s | hr s i sbBtm sifr phkwit >
19. ¥ i st if mist sttu s?

20.sti  if s[h & Hmishmrs ?

21.sti  a] kists Hmishn¥r ¢ £t j hfbxrh athtss if wist ?

22.sfwj hmw t brs&wist ¢ Ik x hut?

12+ klai s ,tsti Ja Ji kst , [i s Hmishmrs?

24.tsti m mi sif kkixsnaft uf ufxans Hmishm¥s ?

14 - rjtadssti af kists Hmishnes ?

26.sti if li t s, la[xts Hmishmys ?

16 + sk tshtiHmishmss, sti stisifr phkkwbsw&hsi{r p tsrfp tfrkiags ?
28. Ja xaxaf[,switif [a tipt tr phkwit >

29.i[t ¥ ¥ apsHmishn¥s, tsxas tks ststsaf b#t =Imafx ?

30. hata fwtsr iXx Hmishmfs ? s¥xkinxk swj hmw t+t kts >

acBts Frgl

0 - g a tisxstscafap s >xkinxr? sfwj hmw tt kts >
1- gl plafstktswit tspifsik s > xit.| °

3. switi [trx shwisssfeihs > [ trxvthis? na xit.

4. sti cBst rswits jsqgink ? ma xit.
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4 - j & tsthi,rhaswittx ¥+ £ sr lgrpgi t tsi if ixif milutks s hawttls P sfxkinx ? s £xkinx
tt kts >

6. switi Jka |l sswis fitrsoh> [ka hstsR ma xit

6 - g j ®m&mis tm ust ?sti ifmust cst r swt >xit. |

8. hai [ cla a mis asts aknk wts fxkinx?r sswj hmw tt kts >

9. haswit tsh tsiftlisla tnfgspitk? haswit th s wiftliela ? ma xit.

0/ - fsx shd+ g bptstwiws ¥ f ap? ma xit

11. ) sf ¢t sht, alki kaf ct wishst sa f + ap? ma xit

12. ha t wigrh swts r wh gnist s F §f[t? switi J/ Lt wtwh swts > xit. | °

02- g stixj ifsta musif sapif n stm sif syilx? s¥xkinx? sfrwj hmw tt kts >
14. switif tag ts lapna[ ts lat? switi [tag s w > xit. |

15.haylats las | t b jut®tnjatxitb

05- g aj X x uttspifsit s > ascks h? ma xit.

17.sti if £ pmnagsm s wts s §r?jma Xxit.

18.sti  hlaw r s wtrqspi tk'? ma xit.

08- g wisttspigsit s #xkinx? ma xit.

20. switasrwtslbmaf ? sti  af ccl mafst s? ma it

21.tsti | s fabfi kst ? ma xit.

22.haj saus? switi { aus asrrgsk wts > xit. | °

22 - jgldw + bgs botfwisres wwasta la ij r s tld la xab ? srxkinx ? s fxkinx
tt kts >

24, tijrjskststi a] j hr s wts tpkEmidt ? mb xit.

14- | slan | hale wrswiswr s wts “ar iyak mw s fxkinx ?rs¥wj hmw tt kts >
26.switi [ li tm s wis rgspi th? switi [ i tm ts ? ma xit.

16- g stiprmmyab rpss ™ p &sttwtghsif sacmalaf ifj m™ pr st afxk? srxkinx ?
swj hmw tt kit s > | °
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giils t il gag s
A. Verb Box aksc ®&1: Complete the verb box with the matching tense/aspect.

ka é&s/k a é s t-towash face

i ci anweé al gla |mni IR mni R p mni | 8x

intransitive
past/present

intransitive
customary/actual

intransitve
progressive

intransitive
imperfect

intransitive
future/inceptive

intransitive affirm. - - ——
commands

intransitive neg. - - —
commands

transitive
past/present

transitive
customary/actual

transitive future

transitive affirm. - -
commands

transitive neg. - - -
commands

present durative /
present perfect

future durative

past perfect

future perfect

B. Verbal Exchanges aksc ®1: answer the questions with a complete  sf xci sentence Translate
the question and your answer to English.

0 - g ¥ck p mwsx ? (lut)

2. hapsk a iwsa[x? (ki )
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3. ha kais £x? (It

4. hay lats

latck a i r s wWsaxdmalal ? (kiwa)

5. s¥wj h mw atitsrsjif kekwapafs ? (ta [pus)

t paksk &t s ? (ki )

C. Past/Present 36 Verb Box aksc t91:

k a & s t- to wash someone'sface

Complete the box with correct transitive verb/object forms

i cBB anwé algla |mni IR mni R p mni | Bx

i CB XXX XXX

anwe XXX XXX

al gl a

mni | m XXX XXX

mni |R p XXX XXX

al gt a

mni | BX

D. Transitive Verbal Exchanges with Objects aksc 1 :

SF XCi

1. switi[] Stk a i sss? (as ilwif)

answer the questions with a complete

sentence Translate the question and your answer to English.

2. switi [ wgftka 1 st icanalt

Ptskgs Mm{itu t p)

3. hak a i ra ssx? (ki )

4. uc mik pkska i r# t? (lup)
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5. switi [ka 1 sts? (i

ke kwapay)

6. ha ka i r# sif ptwina[x ? (k iwa)

E Future 36 Verb Box aksc ®&1: Complete the box with correct transitive verb/object forms

k a & s t- to wash someone'sface

i ci3 anwé algla |mni & mni IR p mni | Bx
i CB XXX XXX
anwé XXX XXX
al gl a
mn| | m XXX XXX
mn| |R p XXX XXX
al gt a
mni | Bx
F. Transitive Verbal Exchanges with Objects aksc t1: answer the questions with a complete s Xci
sentence Translate the question and your answer to English.
1. switif ] wftkska i st icanalt st sgs? (knxcut sif sswisl ¢gh
1- gfaksk&sti s icangbkPsklga? (sfrwisl gh
3. ha 1Atd kska i r & slapnd[ ? (kiwa)
4. uca mij | s ahijg j? (lu)
5. s switif kska 1 stsfx? (i krk wapa])
6. ucp ikska i s o fitclap? (ki )
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cdzs st I qa@ s

1. a téx - sit on arock

example sentences:

1. k atdx tt |jpts  paghk ht tLE mkkigksain i tum. (Isat downon aboulder
and cried, because | was scared to tell my mother about it.)

1- j &t tt jjacfa ssij bBki dgx j st hrk. (We climbed the hill and got tired
so we sat on the rocks and rested.)

3. s Himxki[ilif] a t&x . (He's waiting and that's why he 's sitting o n the rock.)

2. kxa - walk/go along

reduplication: nkXkxa

example sentences:

1. k | kxa bjitplafst i kwap. (I walked home leading my pony.)

1- jktta t £ ] Bp ta n. (We walked on the road and got to town )

2 - gskxm@y ts 1ivwif  >(Are you going to walk over there?)

3. aiégdast / i dplant- lead

example sentences:

1. k Lkxa aiéddast i kwap. (I walked home leading my pony.)

2.1 bWiwtta k apmi r i iddanj t1 a wok [ vwe your horses together and lead them
to your country .)

3.¢c k ¥ jpogn h[ pEge] _ 1 xq r(WhEn | go blind they will be leading me around )

4. RIti / Ra t-tobraid

reduplication: ¥ L s h

example sentences:

0 - Jrems hr [t Rltisjitgtpgit t £ J st inafst is ¥ ¢ pinal. (She combed my hair
and braided it tightly into two knots above my ears.)

2. isaa [ jRstlr d pr opsf gMyauntie would braid our hair .)

3. safr hfma [i L cRstgyRh [ pt otpshmaf s a. (Whenwomen french braid their
hair it looks nice.)

5. éa - rolled over the ears

singular. im> [

exam ple sentences:

0 - Jtrems hr [t kltisitgtpgit t £ J st éastis+ ¢ pinal. (She combed my hair
and braided it tightly into two knots above my ears.)

1- | ttf apticq c @ .1 (That warm hat you got has ear flaps .)

3. im*r jav " § 8 .1 (Mydog has hanging ears .)

6. tgam- to touch

reduplication: tgtqgam
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example sentences:

1. k swts® qikstg® i qgrpgi tn+ | ded, "lutakstgda a gfrpqit c lap £ ° h"o(kréached
up to touch my hair, but she told me, Don't touch your hair. You will stop it from growing.)

2. Lt c lrhf phawtr ax. KWhen some people pray they make the sig  of the cross )

2 - k't s akdctgds . (Ysutdon 't touch eve rything.)

7. qRsqinm- scratch the head

reduplication: gsgsqgin

example sentences:

1. stmti[s¥ if taksgsgéh ." (Use astick when you want to scratch your head.)

1- g L 5[ qsgagin . (they get lousy and they scratch their heads)

3.k papuk " [pt $ pax [ pt @ oRqgo dllget dandruff and my head itches so | scratch
my head.)

8. txRIr dtx Rat/tx R a - tieupforsomeon e

reduplication: s Www¥ £ s h

example sentences:

0 - Jtx®tl rigggpgi t t s if ixif milutks tshawtsr fap kstas tilif ksrclacs. (She tied my
braids with buckski strings so they would not come loose during the next  ten days.)

2. r v\ RRIF r gs+ h [ rh Ji 'sbrxr (We tied their flags to a stick .)

3. arvRIrlglg pt etpshr ni ~ [ {They wrap cloth around his braids .)

9. k a & s t- wash someone's face

example sentences:

0 - JkBté sRst £t [Jmitksrtsdst tum m ust. (Shewashed my face and painted it with
a red earth paint.)

2. ka ést’ r ptsif[pVvah x Ls. (wash your kids face its to dirty)

3. kaés tt us misicpl * r (Shewashes herface then puts lotion on then she powders
her face.)

10. m ust - face paint

reduplication: m m ust

example sentences:

0 - Jkwti ssr t E[mitktsrisdst tum m ust. (She washed my face and painted it with
a red earth paint.)

1- wth{ft m ust s. (She has a variety of face creams .)

3.t sr hwiist rs sk xists st bs | us[ kbIm Bw_1 oh f p h k(Resple used goose
grease or bear grease to put their hair or to put  on their faces.)

11. cfa - crimson red

exam ple sentences:

0 - Jwtstis t sl if p & tHpal ilif c gmi & siifxn,sk xists tst btscfa tum t £ frif
strxmi . (She gave me a little buckski  bag with an extra pair of moccasins, bear grease, some red
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face paint, and a wood en comb.)

1- tuhyg haf dtif j° [r W hb Ht r sxr {Red ochre is what they used to paint their
faces)

2- bj M ptrj kiwhts $dtla [ h $§ Likr sr  h [t spxifopgh x1 ° sisknags.s(Ab |
single woman paints the part of her hair that shows everyone that she is single )

12. dzg It- tuck / wrap

reduplication: 5 tsh t

example sentences:

0 - Jp ehtistss if st xcim+  t { dggsstif t lissla. (She tied a buckski  cape around my neck,
and she wrapped a shawl around my shoulders.)

2. dedgg t 1 s mi lut ak s 1ap. (Tuck in your blankets so you don 't get any dr aft.)

3. dzg t  r pY ptsr mhutks its. (Wrap a blanket around your child so she dosen 't get
cold.)

13. lig[R- shawl

reduplication: lislig kK *

example sentences:

0 - Jpetistssi if st xcim+  t { © hsstif t lis[B. (She tied a buckski  cape around my neck,
and she wrapped a shawl around my shoulders.)

1- w tliglih st "hh ixif bwdsx stst ™ wvb&nh (She makes a lot of shawls she gives
them away at the winter dance .)

3. virvhifw grj ®dxif | h wttrba it {The shawl has long strings hanging so
when she walks its like she sways.)

14. v dast- able to go

example sentences:

1. i kst & spkif k v dast, tr sp bk bj h bist .h(lhwas almost no on when | was
leaving, and my father came home for lunch.)
1- gatsb jvhdg 1 jgk @& hpfr pvBo ° [ (Ske had a hard time to get ready to go her little

car was loaded to the max .)

3. hac | tv dg. ¢Are you goingto be ab leto go?)

15. | v dzg t- send someone somewhere

reduplication: £ w wlisExm t

exam ple sentences:

1. stislut ~r s | wthkzgs wist. (He thought it was wrong to send me into the mountains.)
2. ha | v dzgzm r v lizfc a r k. (Did you send their orders in ?)
3. ax a[ iks I védann is j Ut. (I'm going to send this to my daughter .)

16. | x ip t- close something

reduplication: £ x x ip t

example sentences:
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1. +Flip if £ 1 ho+ tgawitj ta c wist. (I closed the door, and started walking toward the
mountains.)

2. itif jtsksa | x xipth] & mip. (Asyou pass close all the gates .)

3. way | x iph gt mist. (The storeis closed.)

17. I Bmnagsm t- put things inside of clothes

reduplication: j Lt p+ | p gsmn’

example sentences:

0- ¢ Hj hibx hwwtsif wistk ck a tx xt s t #Bmnagsm . (When | got to the botto of
the mountain, | picked up two rocks and put  them inside my dress above the belt.)

2. kakic h[ rjisthps [t oRko®skl h[iwt® [lfounda squirrel' s cache and | put
the nuts under my shirt. )

2- cnafs st mist cl o RRgs stsh fcna sr {When someone steals from the store he puts
what he's stealing under his cloth ing.)

18. hfaw st- to loosen something

reduplication: hl ~ g &w st

example sentences:

1. ixif sichfaw st iyiipt Lrwaisl faf cxfitif x ut, k t tajlwtst r p[tsrhpeif thhb wist gat
k cqicrIx. (Then, I loosened my belt and let the first rock drop, saying, when | have children, that is
the way they will come, with me  on the run.)

1- tLtjessht $§ f fw sth b | 1 5t. (When you pack loos en their cinches once in a while.)

3.k [htt mikwaygi qf gt uvyiip. (late somuchanda so full I have to loos en my
bels)

19. tv dat have trouble / able to have difficulties

reduplication: ttwtsh [ r s

example sentences:

1. lutp ki ikstv st k tr t st . (I will never have trouble bearing my children.)

2. a spi fw tttv dzgiutg¥ pal fx. (They wenthunting and failed to shoot anything .)

3. tivdzt hj rdysvts (I had trouble getting it here )

20. sRv dgamay - trainer

reduplication:

example sentences:

1ithif ts = if] tgftcco mafstsi tu t SRy dgamay . (I continued to follow the teachings of
my mother and my trainer.)

1- ylas & R vedka r o frao (Trainers are hard to come by for training you ng boys.)

21.1a 1€ kst - wipe hands

reduplication:

exam ple sentences:

1.k wkais crc ixal,t ptch k 1a1ékstm, k [i s milutikstga istsuos. (When |
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washed my face in the creek, | used fir boughs to dry off so my hands did not touch my face.)

2.k kai kst t+t 4§ A kstk 1 1€kst t ¢t ikst. (I washed my hands and my hands
were wet, | wiped my hands and my hands ar e dry.)

3.0lif i lést. (There are towels there.)

22.1i s - wipe face

reduplication: [ "[i s

example sentences:

1.k rkais crc ixaf, t ptch k fa [i kstm, k 1i s milutikstga istsus. (When |
washed my face in the creek, | used fir boughs to dry off so my hands did not touch my face.)

1- xt bs bk [1é€s . (Allthe children wipe their faces.)

3. s tsj g hjftax@[ §Sth1 gx (You're really sweating. Here's a towel. W ipe your face .)

23. a gs wrinkled face

reduplication:

example sentences:

1. akfhc k [i t tway k a @s. (Otherwise | would get wrinkles on my face at a young age.)

2. i mickicx is a gs sgla . (My pension will be here soon .)

3.k iwxtt jaws (I'moldandwrinkled .)

24. mil t~ rub something

reduplication: m mi t

example sentences:

1. m mi ikkix naft @frufxa t p tch, pux iyatk mw s a gsiscla laijjrs t¢t
isda la xan. (I rubbed my hands and feet with gre  en branches, blowing first to the su  and then to
my finger tips and toes, praying they would stay strong.)

2.k ¢ tsbfjsat tm mi t ayu[ b ft [aw (] got the cramps so | rubbed some chocolate
tip on my feet.)

3.hul * [ ignd I ras mik . (Excuse me, let me rub your back .)

25. tRgtaqgt- foolish

reduplication:

example sentences:

1. putif k ¥ st shtifr p h ksikssniyat tRytagt & kst wig hsif r p tsr [p tfrkimgs. (During
my childhood, people were just beginning to think that it was foolish to send children out alone.)

2. ixi[tqr Ragsrt £ kif & ¢ wisds. (She was so foolish she chased her cousi around.)

2 - mhi[tBpd[ r swtenRorcwett £ kis, s fir t tqgqshr thfx 4 h rns.b(THat
stud is a really foolish horse. He comes and chases, chews and kicks the mare then he's gone again.)
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13. stxRsql3 a

slRadz I 0: s R dz6 @ t skRk[ka

u s
p ts[mi t get used to
s | ®h take by the leg
k k xat grab by feet
xImi ax
swist & | come up on
] =nifst able to catch
j tp " af t pluck
ctaf]j s ts hot water
tlap torn
la a squirt
s ka a second
Ccy yu xst move something around
spu t feathers
phst s lay in water
cC  wts poured in
kiwi af tub / barrel
ctsswhsj s make soup
j L7t put dow n on something
n¥ nut manage to cut
cyira t¥ s curve / curved
b jitsaf t pull out guts
La s edge
lacat tst t tie the throat
ckalatmnwiw ts tie together
spi p lungs
las kidney
i btaft wash inside
ht gullet
rstt turn inside out
pj str neck broken / head broke n off
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SmM ma

Pilg[sis kspsga a[x t skkkldka[ t £[ sl wist r sr Vo
ksk xit . lutp ki acpsgaal t Lit.
P- g jit?
W- wa a ninglwts+ kki & acpsga aJ

P- lut wts ast, [a xaxa[ o dgmétv dz

W- k muss if "~ r scahtj t

P- wa c¢c ifj tsast. hahu + | tmtsa if s krklakaft .
s krklaka]t ...

P- anwi [t L wnss £ @ msixdzg t nagsskiklaka[ t £ [ ©

bwtth k k xatt bwtrts wiEnwifr b jtahwit L
us if t ximi . luta j{etal & afr s wits +x W

L aJmix t nags skrklaka].

hahu , ha ylaylat axa ks wtsti  ?

P- ki,if skkklakal af cpa ~ Hpif silift s. lut miy at

mi j

akskkil !t sgfi tsr v dzs wkttr j tfa | sfuthafst !

W- k i daistt nags! ax af.

P- ast asc .

Ja xaxa/...

P- wa ixifput. iR dgagt + wsti | h r hhwsist
ucwa Bpusifsitj B

W-  [utif.

P- ast, aL[hmiyat.  fc tayi dzi iflzsi ifs tlap tr
jdp S aft . ninwif[scu maJts wj hr swis-fa t m
ka [i st si L) s faldkstm t. lapnal b j snth

skkklaka[ ck k xatt £ ogrti dtafj Isj tssi L) t5-

ilif mat Jup kstska t tcy yu xst, afqisj tsmi
£ "a ylat if spu ts.
W- ahw! k kikst !

P- txf mistx,ci cr tifsi £j shahu, bj shtd ko grti

"bLstyBc _vdkiwéa milutks agsif s ifs.

astasc =, ixif mij #p © af t

get used to

take by the leg
grab by feet
ax

come up on
able to catch

pluck

hot water; tear
a squirt

put in water
second; move
feathers

lay in water;
poured; tub
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Ja xaxa(....

P- hahu ,lapnaf likt . na £ fptwkmnit s if
s uf ufxa s.
W- hasti  j hr dwtg ufxa s?
P- luticana Lt bwsikifisllatif spaya. minks x
cdsv gr itdguf ulxa - g kb nnhis ? make soup
W- j h+ [its &7t
P- ast. Lt mni t saf cxfitif s uf ufxa s, sicanwi if tsHh.

P-  hahu , lapnaf i k't
W- tlafki m sttt ?
P- | t§ftb wtgtht nagsskkklaka[ t £ T jmi | snmht |

il ti ca

W- | tsthaxd].

P- hahu ,i ldz_t ala] latapi/ tkma ts ks tgitk. cx (it put dow n on
niafst tr pdai kr t tsuf ufxa s something

W- ki ifj r mtsvksni @ ?

P- luttaflij r mitsets n Rnur viger prstst | t ki,swa manage to cut
ast. lapna, ni twts & s uft s;na Lt [ hutif
aksn

W- lapnaf sti ?

P- lapnaf ] tslakst t Lt li kt. tgi tka Kilx, lafki

cyirB dRdz a wet,ixi[t £ aidda t. curve; pull out
W- haylaylatiks th k ? guts
P- ilifwa sttshtx t | a sif latap. p utif rcklaJact edge
mior sr ¢ wfts
W- hahu - nsth was
P- lapnaf [acl dat t £ us. hani sw® tie the throat
W-  Ki.

P- lapnaf ni t htica sfrcknthsifr xtor gr t 4

uft s if ilif ckaacmnwé& ez ¥ nb s wiftt thxk® wif s | tie together
am>ap.

W- hahi ,wa x wtitsj o -
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W- haixif wa ,haw sti axa[ if [ag ?

W- hawa r hb wwa ?

W- hahu ,wa wts-

astasc . lapnaf j tsth if spufus, spi p naft lungs
Jags. kts lakst t tck s h.wfgspi p naft las | kidneys

ck a htor +L mtik . lapna] él a tt wash inside

si L] t5-

lut, Japna] tsbhsif 1glts ifixticat £ xehfki gullet

kif K ni . r dzs ggput pi dzssig ni st lafki Kkif turn inside out ;

ts ap. neck broken

ki, ixif sicw sti axaf if [ad- g  rmhwtif 7 ts

Ssovdzlh s rgtl

1
2
3
4
5.
6
7
8
9

10

11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24,
25.
26.

tsti  kspsga afx Pilafsis ?

. switi [ ksk xits Pilafsis ?
. SfwWj h mwi tWhei 2
.stiif mussWpci ?

sti if ks kists Wpci & [t £ wtss kiklakaft ?

. ks¥xkist if skkklaka[ t Pilafsir £ = tbsw?s h
. tsti ks usrsif skklakal Pilgsis ?
. sfwj h mwlayati[ slkeklaka[ ks wtsti  ?

alki if silift sif skklakaJ af cpa ?
ksfxkin k. mimiyadt L tafjbis | ts tpth sg visis skiklakal ?
sh nfvk ahfi st ks tla sitj s >
tshxks p hstj & skklaka] tafj s s >
stwj h mwasttaksy yu xst if skklaka] tafj -5 &5 >
sfwj hmw p hstj & skklakal "Lsti b >
Fxkist if slkekldkal £ =  fsvphh stj
iflotif i kt ,ksfxkist i skeklaka[ ?
switi { b wtkls if skklaka[ s uf ufxa st Pilafsis ?
rxkist if skrklakal s uf ufxa tsl la ts Pilafsis ?
switi [ kst mnit s  ex]Jitifsuf ufxa s? switi [ kst mnit sf tshi?
ki af cxJitksni ufst i skeklaka[ ?
stwj hmw t[ij k mEskei t r pdei ks i skrklaka[ ?
alki kaJ c bjisal t i skklaka[ ?
sti if x wttsj T o >
sti if cka h £ d sk khaka[ ?
Fxkist if skeklakal £~ fsvlihkm, cwi[s b jilsa[ ?
fxkist mi shs i [hisifskklaka[ ?

acBts Frgl
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0 - g sqgajaftnaqgspisj > gsga fafx lapmaf tspi tk? s¥xkinx? sfrwj hmw t & kts
1- gitlameaf ? s¥xkinx? s¥wj hmw tt kts >

3.sti ifps[mswit tsr ak? xkin  t £ pmEs wts > xit. |

4. switi[ p s[imi s wis tsr aki? switif p 5[mi ts? ma xit.

4 - g kekldka[f r acis wis rxkinxr? sfwj hmw tt kts >
6. switi [s] ®Is wis s f[r?jswiti [ kK k x tsis? ma xit.
7. g |t jrwkklakimi ? ha 5 5t? ma xit

8. switi [swist sWt [siktrso$witif s wist 6 ? ma xit.

9. tnfqgspisj + g nifstylafsts a mi k? s¥xkinx? s¥rwj hmw tt kts >
0/ - g fpjesaf j tskrklakal tn¥qspi tk? srxkinx? s¥wj hmw t &£ kts >
11. hatlapasi if t tr dki? ma xit.

12- s i, thhnfwld t ka [i st ctst r swtsi L] 5 ma xit.

13.sti if phsgwts s r?jma xit

4. hataflij 5 bx xtspifsiks #xkinx? sfrwj hmw tt kit s > I
04- g Kkiistsnrqspi tk? s¢¥xkinx? sfwj hmw tt kts >

16.switi /] bj tshsswtls gap sb > [rhvjhtshts) s xit.

06- g wigl jadgshwts kk ? ha iafpt?ha pt rs xit. | °
18.hap tsswh s jngt fgak wtnrgsklaci s? s¥xkinx? sfrwj hmw tt kts >
08- g L phsEr ¢ sk&lakal s uf ufxd ? s¢xkinx? s¥wj hmw tt kts >
20.tn rgspi tk, switi { wsstt stsgla ? switi fwisws wts s ? rmp kxit.

21.sti if] tsshwts[sstsroaffki t £ éws xit. | °

22.sti ifn¥f nuswtfgepi tk? ma Xit

23.sti i kaacmnwiwtsr s wis & tr b7 xitl

24.ha Bshcts™ bsi prmt =~ 1as? s¢xkinx? sfwj hmw tt kts >

14- g j stbtafcut? tsti j 5 btafcut? ma xit

26.sti if risteswt js§ fRc? sfrwj hmw rtskt s wis > xit. |
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giils t il gag s

A. Verb Box aksc ®&1: Complete the verb box with the matching

odgmé& / o dgmét- to get usedto

tense/aspect.

i ci anweé al gl a | mni

|

mni R p mni | 8x

intransitive
past/present

intransitive
customary/actual

intransitve
progressive

intransitive
imperfect

intransitive
future/inceptive

intransitive affirm. f— —
commands

intransitive neg. - -
commands

transitive
past/present

transitive
customary/actual

transitive future

transitive affirm. - —
commands

transitive neg. - —
commands

present durative /
present perfect

future durative

past perfect

future perfect

B. Verbal Exchanges aksc &1: answer the questions with a complete

the question and your answer to English.

0- g stisk ssrb p mix? (ki )

Sf Xci sentence Translate

2. hap stir | st [jingfx® (lut)

3. ha ptsfmiswt fpluti)' h
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4, hani ao

b gnssts if sw sk ? (kiwa)

4 - g Jmin psgh b x? (lut)

6. haa mij | t Himir p2ski)

C. Past/Present 36 Verb Box aksc t91:

Complete the box with correct transitive verb/object forms

o dgmé / o dgmét- to get used to

i ci anwé algla |mni & mni IR p mni | Bx
i CB XXX XXX
anwé XXX XXX
al gl a
mni |m XXX XXX
mni |R p XXX XXX
al gt a
mni | Bx
D. Transitive Verbal Exchanges with Objects aksc 1: answer the questions with a complete
& Xci  sentence Translate the question and your answer to English.
1. haSapas jJptsmis? (ki )
1- gl p g[mEtt i canaft ldnti af ? (lut)
3. hap stir plitr s Piyais? (kiwa)
4. hacmistipsfwj h mw tpts[kitk st? ( sis)
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